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p. Uhuhw « 25 » ognuwnnu 2020p.

Cwjwunwth  <wipwwbunpuu  Upnihph  dwpgh  Uhuhwuh hwdwjupp, h nbdu  hwdwuph
nbywdwp U, Uwpquuwuh, npp gnpdnud £ <<Sbnwlwb  huptwlwnwwpdwt  dwuht>> Cwjwunwuh
Cwupwwbnnejwt opkuph hhdwt dpw (wjunthbn' Mwinghpwinny, dh Ynndhg, U <<Uybwnhuywu Thu
Untnwd>> UNC-U, h nbdu ntopbit <wdjtn Utnhujwuh, npp gnpdnid £ pulytipnigjwu Yuwunuwnpnipjwl
hhdwt Ypw (wjunthbinn' Ywwwiwnnt), dnw Ynndhg, Yuptight unyt wwjdwlwghpp htunlywih dwuhu:

1. MU3UvULUS,h UNUrYUL

1.1 Yuwwwwnnu wwpnwynpynd £ unyt ywdwuwgpny uwhdwidwd fupgny, Lwhiwnbujwsd
dwywiubpny, &uny U dwdytnubpnd Ywwnwpb] unyt wwjdwlwgph (wyunthbn'  wwdwuwghp) N 1
Cubwdnd  uwhdwbws  Swywwpbpe-twiuwhwyny  Uwiwnbudwsd  Nuwdnpnyejw hwdwlywngh
punywjudwl Yuwhuwg

Usfuwunwtipubiph wugwundp
wohuwnwlpltipp (wyunthbinn' woluwwnwp), huly Nwndhpwnnt wwpnwdnpynud £ punndit Ywinwnpywd
w2tuwwnwbpp b Jupdwinpb npw hwdwp:

1.2 Muwpdwuwgpny twhwwnbujwd  woluwwnwbptbpp  Juwwpdnd  Gu << opbilunpniejwdp
uwhdwbywd unwunwpunubphl, shtwpwpwpwlwl tnpdbpht b Guwunbubipht, wofuwwnwuph Uwfuwqdh,
htuswbu Uwl wwjlwbwgph wbpwdwbbh dwup  Yuqdnn  wofuwwnwuph  SwywjwpRbpp-twiuwhwayhl
hwlwwywwnwufuwu:

1.3 Muwjdwuwgpny bwhiwwnbudwd woluwnwupubpp uluynd bl wwydwuwghpt  ndh dbg dintiinig
htiin Ut Guinwpdwl dwdlbunp vwhdwbynd £ wwpdwtwgph N 2 <wybjwény uwhdwudwd opwgnyguiht
qnwdhyny:

woluwnwuptbph uwunwpdwl Jopgbwdudytinp

Nuydwlwgpny  bwhuwwnbudwd  wnwbdht  wbuwyh  woluwnwupubiph, thnoyiph U dwywiubph
Juwwpdwl dwdybnubpp npngdnd Bu Ynndbph Ynndhg  hwdwéwjubgywsd  opwgniguiht - gpwdhyny
(Cwybwd N 2):

2. YumuLunnkb UbRNSLLMNY UShUSULLLEME WUSUrsLe

2.1 Ughuwinwupp Yuwwnwnpynd £ Ywywiwnnth nidbpny, unyetipny b dhgngubinny:
2.2 Ywywwnnt wwnwuliwbwnynyent £ ypnad pp npwdwnpws bnyetiph b uwppwynpnwubinh
npwyh hwdwn:

3. UNWUErh PPUYNRLLLENE Bd MUMSULULNRME3NRLLENE

3.1. Mwwnyppwinnits hpwyniup nitp’

3.1.1 Swlwgws dwiwbwl unngh] Ywwwiwnnh hpwlwlwgpwd wofuwwnwuph pupwgpp U npwlp’
wnwlg dhowdwnbint yipghthu gnpéniutinyejwlp.

3.1.2 Ywwwwnnth Ynnihg wuwydwbwgph 1.3 Yannd tpdwd dwdybinh (Uepwnyw) opwgnigwiht
apwbhlyh) fuwhuindwt nhypnud hp hwbgnnnugudp uwhdwb] wofluwwnwuph Yuwnwpdwt unp dwdybn b
wwhwugb| “Ywwwiwnnthg YGwpbint wwjdwuwgph 6.2 Yhwnny bwiwwnbuwsd wnnydp:

3.1.3 2punnuby  wofuwwwlph  wprynipp' << opbunpnpjwdp  uwhdwujwd  ppnyputinhl,
wwjdwuwgph 1.2 Yaunny bwuwnbudws hwunwpnetiph wywhwugbipht shwldwwwnwufuwbint nbwpnud' hp
hwjignnniejwdp  uwhdwubing ebpnyeiniitbiph wuhwwnnyg  Yopwgdwt nngwdhin dwdljin L wwhwbgb)
Ywywiwnnihg Yéwpbne  wwpdwlwgph 6.2 Yhnng bwhiwnbujws nnydp, puswbu bwl 6.3 Yenny
Lwhuwwnbujwsd inniquitipp:



3.1.4 Uhwlnndwtp ndt] wwjwbwghpp U wwhwtghy hwwmgtine hpku wuwnbwnywd Juwuubpp,
bipb.
. w)  Ywwwiwnnit dwiwbwyht sh ujunud wpluiwnwiph Ywnwpndp Yud wafuwnwlpp Yuwnwpnud §
wjtpwt nulinwn, np fpw dwiwbwyht wdwpnp Runting £ wluhwyn wuhbuwp,

p)  Ywwywwnnt fuwfunb] £ owwpdwuwgph 1.3 Yo twhwwnbujwd dwdybinp  (UGpwnjug
opwgniguwjhl gpuhlp),

9 Ywwwwnnth  Yondhg  Gwowpdwd  woiwnwbpp  sh hwdwywowubiwtind
bwhiwgqdwlwwhwywiht thwunwpnrinny uwhdwtyws wwhwlgulipht,

) Ywwwwnnth Yynndhg fuwpundb B wwjdwuwgph 3.1.3 Yhwnng bwhuwwnbudwd  hhdptipny
wohuwinwph phpnyejniuubph wuhwwnnyg Yapwgdwu nngwdhwn dwdlynubpp.

315 Ugluwwwuph wpryniuph  phpnyegniitbiph  hbn Juyywd  wwhwlgubip  Ubipluwjwguty
tpwotuhpwht dwdlybunnd:

3.1.6 Lhwgnpby wy wudh' wolwwnwiph hpwlwtwgdwt Ujwundwdp wbubhywlywl huynnnieniu
hpwlwwgubint bywwnwyny.

3.1.7 Uhusk Mwwindhpwnnth Ynndhg Ywwwiwnnth Yunwpwd wofuwnwuph wpryniupt punnibp,
wwhwuet hpbu  hwtdtbnt  wbwdwpn  wpfuwnwuph  wpryniupp' wwydwbwghpt  optiupny  Yuwd
wuwydwuwagpny bwhiwwnbudwsd hhdpbpny nwnwpbigutiine nbwpnud:

3.2. Mwwndhpwwnnit wwpunwynp £

3.2.1 Uphuwwinwlpp Ywwnwpbijhu' wowlgh) Ywwwiwnntht wwdwlwgpny bwfuwwnbujwd nbiypbipnd,
swywny b Ywnpgny.

3.2.2 Mwpdwtwgpny twuwwnbudwsd dwilbnnw U Yupgny “wywiwnnih dwutwygniejudp quub U
punniub] Yuunwpdws  wpluwinwpp  (npw wpryniupp),  huy wwjdwlwgphg  wafuwwnwlph - wpryniipp
Juinpwpwging sinnuiubp Ywd wouwnwupnd wy) phpnygniiutn hwjntwptipbine nGwpbpnd’ wjn dwuhu
wuhwwwn hwjinlb Ywwwwnniht.

3.2.3 Muwpdwlwgph nidh dbg duubint wwhhg 5 woluwinwpwih opdw plpwgpnid “Ywwjwiwnntht
wnpwdwnnb] woluwwnwuph hpwlwlwgdwt hwdwp hwdwywnwufuwl nwpwsp.

3.2.4 Mwpdwuwgph 1.3 Yowny bwpwwnbudwsd dwdybnnyd wofuwnwph  wpnyniupt punniubint
nbwpnd “Ywwwjwnniht Yéwnpt yepghupu Jowpdwt tupwlyw gnudwpubipp:

3.3. Ywuywjwnntt hpwinitip niup’

3.3.1 Muwjpdwuwgph 1.3 Yownd twhwwnbujws dwdybnnd  woluwwnwuph wpryniipp  hwbdubn
ntiwpnwd Nwinyhpwnnihg wwhwugly Yewpbint wwjdwwgph 5.1 Yanny bwhiwnbudws' Jéwpdwu bupwlw
gnuiwpp:

3.3.2 Mwwndhpwinnth Ynndhg wwjdwuwgph 5.4 Yannwd Upgwsd dwdltiinubph fuwfundwy nbwpnud
Muwwnyhpwinnthg wwhwbeby Ywpbint hptt Jdwpdwl tupwlw gnuiwpubpp b wwjdwuwgph 6.5 Yhwnny
Lwfuwunbudwé nnydp:

3.4, Ywywpwnnit ywpwnwynp '

3.4.1 Ugfuwwnwuptbph Yuwnwpby wudwdp, wwdwbwgnny twiuwnbudws Yupgny b dwdlbnubpnud,
hp mdtipny, gnpdhputipny, Ubfuwuhquubpny, hugwbu bwl wihpwdbion Ynyebipny nt wwwngws npwyny’
Uwhuwgdht b dSwywjwptpeht hwdwwwnwufuwl:

3.42  Ywunwpl] woluwwnwuph Jbpwpbpw Mwndhpwnnth ndwd gnignudubipp, bl npwup sku
hwlwunud wwjdwuwgph wwjdwuubpht:

3.4.3 Uwwhndty ohudnuinwdwiht  woluwwnwupubph  Yuwwwpnudp  ohtwpwpwlwl  unpdphu,
Jwunuubphu nt nbuuplwywt  wWwdwutbpht  hwdwwwwnwufuwy, Yuwnwplp bp Yondhg  dntunwdywd
uwppwynpdwl (EEGunpwlwl, sbnnigdwl, opwdwmnmwlwpwpdwl, Ynninny, onwihntuhy U wyjt) wbuhwnwlwu
thnpdwpynud, Jwutiwlyghl) uwppwynpdwl hwdwihp thnpdwpldwup:

3.4.4 Wluwwnwuph wpryniupp Mwundhpwnntht hwbdubihu upwl hwjnbp wiu wwhwugubph b
Yuunuubph Jwupb, npntg wwhwwunt wuhpwdbyn b wouwnwuph wpryniuph wpyniiwytin b wuyunwlg
oquwgnpdiwt  hwdwp, husgwbu bwl  wbnbynenutbp  hwnnpnbp win  wwhwgubpp b Jwunlbipp
swwhwwubint huwpwynp henbwupubiph dwuh:

3.4.5 Muwypdwuwgph 1.3 Ybwnnd upwsd dwdybnp (Ubpwnjw| opwgnigwih gpwhhlyp) fuwfunbine b
Mwwuyhpwwnth  Ynndhg  wtuwwnwuph Yuwwwpdwt unp dwdlybn  vwhdwudbine nbypnd,  wwwhnyb)



woluwwnwtph Yuwwpnp  uwhiwbdws dwdibnnd U jnipwpwgnip nigwgywd opyw  hwdwn Yéwnby
wwdwuwgph 6.2 Yunny bwuwnbudwd nnydp:

3.4.6 Mwjdwuwgph 3.1.4 Yawnny bwiuwnbugws hhdptipny wwjdwuwgph (nddwt nbypnd hwinngh
Muwndhpwinniht ywinbwnywd Yuwubtipp b Jéwpb 6.3 Yhnny bwjuwnbudws nnqutipp:

3.4.7 Chuwpwpnpjwt  opjiinh  Yntubpjuwgdwt  wihpwdbipnnpjwt  Swqiwl  nbwpmnd  hp
dhongutipny  Ywwwpbp  wpluwwwbpp  nunwpbigubine U ghtwpwpnyegniup Ynbubipdugubpnt
wlhpwdtipnnyeniuhg ptunn nnowdhwn dwfuubpp:

3.4.8 Gpb shuwpwpwlwl dpwapbph Ywwwndwu wpryniuph Ywd npw wnwudht punwnphsh hwdwp
uwhdwuwsd bpwouhpwiht dwdlbnh pupwgpnd h hwyn Bu BYb Yunwpwsd woluwnwuph pbpnyeniittn,
www Ywwwwnnit ywpunwdnp £ hp hwayht, Mwudhpwnnth Ynndhg uwhdwugwsd nnowdhun dwdlbiuinid
Ubpwguby phipnuyeniitbpp:

3.4.9 Nwjdwuwagpny bpwofuppwiht dwdytinn £ uwhdwudnd Mwwnghpwnnth Ynndhg nng dwywiny
Uptuwwnwupt punniudtiint opwu  hwenpnnn opdwuhg hwowé wnldwqu 365 opwgnigwiht op: bpb
tpwotuhpwiht dwdlbinnh pupwgpnd b hwwn Bu Byt Ywowpdwsd Ugluwwnwuph pbpnyeniuipn, wuwjw
bwwwwnnt wwpuwynp £ pp hwodhu, Mwwdhpwunnth Ynndhg vwhdwbdwsd nngwdhunn  dwdybinnud
Jbipwguty pbipnyeniuubpp:?

3.410 Ywwwih opiywnh, npw wnwudhu dwubph (Ynuuwnpniyghwubp b wyt) b oquwgnpdybihp
unyebph L (Ywd) uwppbiph nt uwppwynpnwiubiph Gpwgtuhpwiht dwdybunubipht ubpyuwjwgynn Uwqugnyu
wwhwbgubipp ubipyujwgywsd bu wwydwuwgph N - Cwybwdnud:*

3.411 Npwlwyrpdwt U wwpdwuwgph Ywuwpdwt  wwywhnddwt  gnpdnnniejut  pupwgpnd
(ndwpdwt Ywd ubwblwgdwt gnpdplpwg ulubnt nbwpnd npw dwuht bwhiwwbu gpuynp nbinblwgut)
Muwwnyhpwnnih:

4. UChiusuLLh <ULALUUL b4 CLHNRLUUL LUreL

41 Ywunwpywd woluwnwupp punnuynd £ Mwndhpwnnth b Ywwwiwnnih dhol  hwududwu-
punniudwl wpdwuwgpnypjwu unnpugndwdp: Ugfuwwnwupp Nwundhpwunniht hwudubine thwuinp Shpudnud £
Mwwnyhpwwnnth b Ywwwiwnnth dhole bplyynnd hwunwindwd thwunwpeneny’ Ukiny thwunwpeneh Yuqidw
wduwphyp:

Uhusl wwjdwuwgpny woluwwnwiph fuwnwpdwt hwdwp bwuwnbudwd opp ubpwnjw| Ywww|wnniu
Mwwndhpwinntht £ wpwdwnpnd hp Yondhg  unnpugpwd’ woluwwnwtpp Mwundhpwinntht - hwbidutne
thwuwp $hpunn thwunwpeninpp (hwdbdwd N 4.1), huy bbunpnuwht qunwiubph armeps hwdwlwngh
dhongny (gnpénnnuyejwt hpwlwlwgdwl dbnuwpyp nbnwnpdwsd £ www.procurement.am hwugking gnpénn
Ywyph «ElEGunpnuwiht qunwiutip» pwdunwl)' bwb hwududwu-punnitdwl wpdwuwgpnipniup (hwybywsd N 4):
Cun npnwd Ywwwiwnnit hwududwl-punniudwl wpdwlwgpnyginiup sh Yupnd, hwuwnwnnd £ EEYunpnuwiht
unnpwgpnipjwdp’ (pugubiny dhwju wju unituwlutpp, npnup Yepwpbipnd Bu pp njwiutipht ((pwgdwu Ywpgp
nbnunpwd £ www.procurement.am hwugbind gnpdnn Yuwjph «Opbuunpniginiu»  pwduh  «bhuwbubbph
Uwhuwpwph hpwdwuubp» tupwpwdunud):

42 bpt Yuwuwpjwd wruwunwtpp hwdwwwnwuppwund £ wwpdwbwgph  wwdwlubpht,
Muwwndhpwinint - wwydwbwgph 4.1 Yhond  Updwé  hwunwpnpbpp unwlwine opdwl  hwynpnnn
woluwwnwupwiht opndwuhg hwowd tGpynt woluwnwupwihu opdw pupwgpnud unnpuagnpnud b falunpnuwhu
qunuwiubiph armeps hwdwywpgh dhongny “Ywuwwjwnntht £ wpwdwnpnud hp Ynndhg unnpugnpywd hwududwu-
punniudw wpdwwgpnyeniup W npw unnpugpdwl hwdwn hhdp hwunhuwgwd npuywu Ggpulwgnynaip:

43 bpb Ywuwpdwd woluwwnwupp Ywd npw dh dwup sh hwdwwwnwufuwtnd  wwidwbwgph
wwdwuubpht, www MNwudhpwnnt sh unnpugpnd  hwbdudwi-punniidwt - wpdwlwgpnipiniup b
wwjdwuwgph 4.2 Yownnd upwd dwdybnnd  EEyunpnuwht qunidubiph armeps  hwdwlwpgh dhgngny
Ywwwiwnntht htwn £ Jbpwnwpdund  hwududwl-punniidwt wpdwlwgpnipniup b npw sunnpugpdwt
hwdwp hhdp hwunhuwgwd pwgwuwlwt Ggpulwgnyejniup: Unyu Yewnh 4hpwndwt nbypnd Mwundhpwunniu
dbnuwpynd £ uwdwt  ppwdhtwyh hwdwp wwpdwuwgpny  twhiwnbujwsd dhengubpp b Ywwwwnnth
uywwndwdp Yhpwnnd § ywjdwuwgpny twpuwwnbudwsd ywunwufuwtwwnynyegjw dhgngubip:

4.4 bpb wwydwuwgph 4.2 Ynnd vwhdwiudwd dwdlbinnd Mwndhpwinnt sh punniund junwpdwsd
wotuwwnwlpp Ywd sh dbpdnd npw punniunudp, wwyw juunwpdwsd woluwnwupp hwdwpdnd £ punniugwsd b
wwydwuwagph 4.2 Yannd vwhdwudws Jbpguwdwdybnht hwonpnnn wotuwnwupwih opp Mwwinyhpwnni

7 Unytr Ylpp hwbmd b owuydwbwgph bwhuwgsdhg, bpb gqbdwb wawplw hwbnhuwgnn shbwpwpwlwt dpweppp wwhwbgmd £
bwfuwqdught thwupwenebn:
B Unyb Ybipp hwhdnid b wuydwbiwgph bwpuwqdhg, beb Yphpwnbf sk



Eiunpntwiht qunidubph hwdwlhwpgh dhongny “Ywiwywwnniht & wpwdwnpnd hp Ynndhg unnpugnywsd
hwudbdwu-punnitdwl wpdwbwgpnieniup:

45 Wluwwnwph Ywd wwdwbwgph opwgniguiht gpwhyny Uwfuwnbudwsd wnwudht nbuwlh
wofuwwnwbptibiph, thnybiph U Swywiubph  wpryniuplibinp Uwiwgdwlwhiwhwuwiht - thwunwenebphl
shwlwywinwuhwubint nbwpnud Ynndbpp Yuqund b Bpyynnyd win' rYwnybny phpnyejniitbph Ybpwgdwl
hwidwp wwhwugynn' Yuwnwpdwt bupwlw [nwgnghs  wfuwwnwbptbpp U dwdlbnubpp: Ywwwjwnntu
wwpunwynp £ wuwdwbwgpwihi quh uwhdwbibpnu, wnwtg |pwgnighs Y6wph, Ywwnwpby wihpwdtown
w2tuwwnwbptbn:

4.6 Upluwunwupt punnwbihu Yhpwnynd b bwle hbwnlyw| wwjdwuubpp'

1) “wwwwnnth  Ynndhg ohtwpwpnipiwt  wdwpnh dwuht  wbnbynyeiniu  unwuwing  hbwnn
TMwwndhpwwnnih nbywywpp dbntwplynud £ dhongtip Cwjwunwuh Cwipwwybnnyejwt Yunwdwpnipjwl 2015
Pwywuh dwpwh 19-h N 596-U npngdwdp  uwhdwblwsd hwuduwdnnny duwynpbnt b Yunwpdwsd
woluwwnwlplibpt punniubine hwdwp.

2) wwjdwbwgph Ywwnwpdwl wpmyniupp hwdwpynd £ wdpnnoniejwdp punniijwd  whnwlwu
Yunwywpdwt dwpduh nblwywph’ <wjwunwuh Cwlpwybnnpjwl jwnwywpnipwi 2015 pwlwlh dwpnh
19-h N 596-U npngdwdp  uwhdwtwd Ywpgny alwynpywsd  hwudbwdnnndh (wyunthbiwn'  punniunn
hwuduwdnnny) Ynndhg Yuwnwpywsd wotuwinwluptbpu punniuybine nbiwpnd.

3) dphush  wywpundwsd  shtwpwpwlwl opjiynnh  punniunwp'  <wjwunwh Cwupwwybinnupjwu
Ywnwywpnygjwt 2015 pdwlwbh  dwpnh 9-h N 596-U npndwt - hwdwwwnwufuwt  unbndyws
hwtduwdnnnyp <wjwunwth <wlpwutinnyejwl opbunpnipjudp uwhdwudwsd Ywpgny thwunwgpnd E
wywpunywd shtiwpwpniejwt opjblnp b Yuquin opjluinp pwhwgnpddwl punniunn hwuduwdnnnyh wiw.

4) unyu UYbwh 3-pn Bupwlbnnd  ugwd whwp  uwhdwbywd  Ywpgny unwbwing  hbwnn
Wwinwufuwbwnne  unnpupwdwunudt unngnud £ wywpundwd  shtwpwpwlwl  opjtiinh (Ywuwwpdwd
wofuwwinwptbiph)  hwdwwwnwuiwungniup wwjdwbwgnph  wwhwtgubpht U,  bpbt  Ywwwpdws
whuwwnwupp'

w. hwdwywnwufuwund § wwdwuwgph Wuwjdwlubpht, www unnpugpynu Wwjdwuwagph
Ywinwpdwl wpmynipt punniutne dwuht hwuadtdw-punniudwt wjwpunwlwu wp&wlwagpniayniu,

p. sh hwdwwwwnwuluwunu wwjdwuwgph Wuwdwlitbipht, www wpdwuwgpnieinit sh unnpugpynud.

5) dhugh unyu Ybwnng bwhuwinbudws wwdwuwgnph Ywunwpdwl  wpryniipl punniubint Jwuhtu
hwududwU-punniudwt - wwpunwlwl wpdwlwgpnignut - unnpugpbp’  Nwndhpwinnts — sh Ybwpnid
Yuwwhwnwy shtwpwpnipwt hwdwp Yuinwpdws wofuwnwupltinh punhwunip gnuiwph hhtg wnlynup, hul
nwnpwdwdln Jdwpbint nbwpnid' Jbpght Ydwpdwu gnuiwpp, npp sh Gupnn wwlwu |hut Yuwhuwy
2htwpwpniejwl hwdwp Yunwpdws woluwwnwuptbiph punhwunin gnwwph hhug wnnlynuhg:

5. UChUSULLP 9hLL b JUrQUSPNRGR3NRLE

5.1 Unyt wwjdwliwgph punhwunip ghtp Yuqunw £ 154980000 (&Y hwpynip hhuntignpu dhihnt
hup hwpnip mpunits hwqup) << npwd, nphg 25830000 (puwuhhug dhipnu nie hwpynip Gpbunit hwqup)
<< npwdp’ UUL-U: Shup ubpwnnad £ Ywywiwnnih Ynndhg hpwlwwgynn pninp Swuutipp:

5.2 Upluwwnwlph ghtp Guynit £ U Ywwwjwnniu hpwyniup sniuh  wwhwugl) wybwgubynt, hul
Mwwndhpwinnts bjwqbgubint wn ghup:

5.3 Mwwndhpwinnit Jwpnid | woluwnwliph G wwdwuwgph opwgnigwiht gpwhhyny twhiwnbuyws'
wnwudht nbuwyh woluwwnwuptbiph, thnybiph U Swywjubph' wwdwbwagph 4-pn pwduny bwhiwnbuws
Ywpgny punnibint nbwpnd <wjwunwuh Cwupwybnnpwl npwdng wulwifuhl' Rpwdwlwt dhgngubinp
Ywwwiwnnth  hwadwplwihtt  hwoyhu thnfuwtgbint  dhongny:  Fpwiwlwl  dhengubiph thnfuwugnudp
wuwpynd b hwbddwb-punniudwi wpdwlwgpnipjwt  hpdwt  Ypw'  wwjdwlwgph Yéwpdwu
dwdwuwlwgnygny (hwybws N 2) Uwfuwwnbujwd gwihipny L wdpubphl: beb wnawlwgpnijniup
Yuquynd £ iy wdudw 20-hg hbwn b wyn widunw Jéwpdwl dwdwlwlwgnygny uwhiwnbudwsd bu
bhuwbuwlwl dhgngubip, wwyw YSwpniu hpwlwuwgynud £ dhugk 30 woluwwnwlpwiht opdw pupwgpn,
pwjg ng ni2, pwu dhtsl indjwi nwpyuw nblubdpbph 30-n:

6. UNWErh MUSUUULUSYNRB3NRLE

6.1 “wwwwnnt wwnwuiwbwnynyeniu k Ypnud Upfuwnwtiph npwih b unyt wuwydwbwgph 1.3
Ytnny (Ubpwnyw| opwgniguih gpwbhyp) twhuwnbulws dwdlytinh wwhywudwy hwdwp:

6.2  Unyt wwdwlwgpny bwhiwwnbuwsd Upfuwwnwtph Yunwpdwt dwdlibnp uwfuntn nbwpnuw
“Ywywwnnihg Jnipwpwtgnin nwgyws woluwwnwpwiht opw hwdwp quudynd nnyd” Juunwpdw



Bupwlw, vwlwiti sywuwnwpdwsd Ugfuwwnwuph quph 0,05 (qnn wdpnne hhug hwpninbppnprwlywt) winynup
swithny:

6.3 Muwpdwuwgph 3.1.3 Yownny bwhuwwnbudwd hhuptipny Mwwndhpwnnih Ynndhg wofuwwnwpp
spunniidbine,  plgwbu bwl 3.4 Yewng bwhwnbudws  Ywpgny  wwpdwuwghpp  nidtqne pliwpnud
“wywiwnnihg quudynd £ unquitp’ wwjdwuwgph 5.1 Yhnnd bwhiwwnbudws gndwph 0,5 (gpn wdpnng
hhug twutnpwywl) wnynuh swihny:* Cun npnud nnquitipp hwaqwplynud b bwl woluwnwlph wphyniipp
unyt wwjdwuwgpny uwhdwiws dwdlbnng junwpbing uwlut ywaodhpwnnih Yandhg wyn spinnitgtn
nbwpnud:

6.4 Muwpwuwgph 6.2 L 6.3 Ybwbpnd twhwwnbudwd wnydp L winquipp  hwodupyynd b
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6.5 MNwudppwinnih Ynndhg wwpdwbwgph 5.3 Yawnny twhiwnbuws dwdybnbbph fuwhundwt
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sywunwpbine Ywd ng wwnpwé uwwpbine hwdwp ywowufuwbwndngeniu bu Ypnd €& opblunpnipywdp
uwhdwbdwsé Ywpgny:

6.7 Snydtiph U (Ywd) wnquipltiph Yéwpndp Ynndbipht sh wquwnnd hpbug Wuwjdwwagpwjht
wwnuwynpnipiniubpp Yuwnwpbinig:
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hwdwp Ynndbipt wqungnud BU wwwwuuwbwnydnipniuthg, beb nw bnbp & wuhwnprwhwpbih ndh
wqnbignipjwl htinlwupny, npp dwqby £ unyl wwydwbwghpp Yupbinig htinn, W npp Ynndbpp  skhu Ywpnn
Ywbfuwwnbuty  Ywd  Ywubuwpgli:  Wnwhuh  hpwyh6wlubp U bphpwowndp,  gphtintnp,  hpnthp,
wwwbpwqdp, nwqiwywu L wpowlwpg  gpoen hwowpwpbp,  pwnwpwlwt  hnignutibpp,
gnpownnyutinp,  hwnnpnwlgnieiwt  dhengltiph  wofuwwwuph nwnwptgnwp, whnwlwt  Jwpdhutbph
wlwnbipp U wyiu, npntp wuhtwpht BU qupdtndd unyt wuwjdwiwgpny Wwnpuwynpnigynuubiph Ywnwpnuwp:
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8. U3L musuvuuitr
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wwdwbwgpny unwtiduws wwpuwynpnipgniutbiph nne dwywny Yuwwnwpnuip:

Nujdwuwgpny  bwfuwwnbudwd Yandbph  hpwdniuptbph b wwpuwlwunuyejniutbph Ywinwpdwu
wuwdwt £ hwinhuwtnd wwjdwlwghpp << $hwbutbiph bwhiwpwpngiwt Ynndhg hwolwnqwé hubin
hwuqwdwupp:*

8.2 Muwpwbwgphg dwqwd' Ynndh dJbwpwhi wwpowydnpnginiup sh Yuipnn  nunupby
wwdwbwgnphg dwqwd' hwlpunnbd wwpnwnpnipwl hwoqwugny, wnwug Ynndbph gpwynn b Yuhpny
hwunwinjwd hwdwdwjunyejw: MNwjdwbwgphg Swqwd wwhwugh hpwyntupp sh Gwpnn thnfuwugyby wy
wbdh, wnwig wwpnwww Ynndh gpuydnp hwdwdwuniejwi:

8.3 Wu nbwpnud, bpp optitpny Uwfuwwnbudwd Ywngny opbiuph wwhwgltinh Yunwpdwt Ulwundwdp
huynaniggw Ywd Jepwhulynnnipjwt wd pannpubiph ptingjut wpryniipnud wpdwliwapydnd £, np qudwt
gnpopupwgnud, dhtgh  wwpdwbwgph  Yupnwp, Ywwwwnnt  ubpywjwgpby b 4nd  hwunwenphp
(nbnbynigyniuin b wuttn), Ywd dbpghthu punpwé dwubiwyhg Gwbwgbine dwuhl npnonuwp sh
hwdwwwinwufuwtnw <wjwunwth <wbpwwbinngejwl opiunpnyejwp, www wyn hhipbpt h hwjn quinig
htiiin Mwwndhpwuinnt dhwynndwhnpbit jmédnud £ wwjdwuwghpp, bpb wpdwbwgpdws fuwfuwnnuwubpp dhtgl
Wwdwbwagph  Yupnwip  hwypnth  hubine nbwpndd qunwdubph dwupt <wjwunwth  <wipwybnnie)ul
opblunpnipjwt  hwdwdwiu  hhdp  Yhwunhuwbwht  wwdwuwghpp  syupknt hwdwp: Cun  npnud,
Nuwundhpwwnni sh hpnwd wwjdwuwgph dhwinniwth nédwt hbnbwbpny Ywwwiwnnth hwdwp wnweowgnn
Juwubbiph Ywd pwg panuwd ognunh nhulyp, huly Ybpghtu wwpuwynp E wywunwth Cwupwwbwnnyzjwl

bRl yuydwtwghpp bbpunmd £ dblpg wily swihwpwdhl, wwyw pmqubpp hupdwiplpdnud £ wuydwhbiwgpny wn swhwpwdp hudwp
vwhdwbiwé pinhwbnip qbh bhywipduwidp:

e MNbeypuwlwt  pimighh  dhongbibinh  hwpyhte  wwpypwdnpniyaynibbin swnwgwgling  qumdtbph  nbwpmd  unyb  bwfuwnwunyanibp
wwydwbwgphg hwbymd E:



opbiipny uwhdwudwd Yupgny thnfuhwinnigt hp dbnpny Mwwdhpwunih Ypwsd Juwubbipt wit dwlwiny, nph
dwuny wwjdwuwghpp médty k:

8.4 Mwjwuwgph htivn Yuwwywsd Ybbbipp bupwyw bu punpwl <wjwunwuh <wlpwwbnneuwl
nwwnwpwutbpnu:

8.5 Muwjdwuwgpnu thnihnfunyeymitbp b pwgnwiutp  Yupnn bu Ywwwnpyty dhwit Ynndbiph
thnfuwnwnd  hwdwdwjunpywdp'  hwiwdwjuwghp  Yuptint dhengnd, npp  Yhwinhuwbw  wwjdwluwgph
wlpwdwubh dwup:

Upgbind £ wuwydwwgpnd, hul bpeb wwpdwbwgph ghup gnpdntwiht £, wwyw twl wyn
Wwdwlwagpht Yhg hwenpnnn jnipwpwginy wwphutipht Yupwéd hwdwdwjiwgpnud Yuwnwpty wiliyhuh
thnipnfunigniiitin, npnup hwigbigunud Bu quynn woluwwnwuph dwywiubph Ywd &knp phipynn wafuwwnwuph
dhwynph qup Ywd wwydwuwagph quh wphbunwlwt thnthnfudwt:

Nwjdwuwgph  Ynndbphg  wulwfu  gnpdntibph  wanbgnpwdp  wWwdwlwgph  thnthnfudwt
Jnipwpwginip ntiyp uwhdwunw £ Cwjwunwih <wbpwwbnnigul Yuwnwywpnipniup:

8.6 Wpfuwwwtph Ywuinwpdwl dwdybinnp Ywpnn £ iplupwaqyt) dhts wwydwbwgpny wn dwilybnp
(Pwbw(p’ Ywwwiwnnth wnwownynejwl wnlwnipiwt nhwpn' wwydwunyd, np Muwwdhpwwnnih dnn sh
Ypwghi woluwwnwlph ogunwgnpddwl wwhwlgp, huly “Ywwwiwnnih wnwownynigniup ubipywywgyb £ ng niy,
PWU wwjdwuwgpny h ubgpwib woluwinwuptbph Yuwwnwpdwt hwdwp uwhdwuwsd dwdltiinp (pwuwimg
wnlywqu 5 opwgnigujht op wnwg: Cun npnud unyl Yawnny uwhdwbywsd nhypnd woluwnwtph Yunwpdwl
dwdybnnp Yupnn § bplupwéqyl by wugwd dhugk 30 opwgnigwiht opny, pwig ng wybi| pwl wwdwlwgpny
uwhdwidws dwdybwu k:

8.7 Mupwuwgph  wwwwé  Ywuwnwpdwl  wwdwbtbpnd  Yandbph (Ywwywiwnnt  Ywd
Muwwindhpwinnt) ognuntbipp (fubwjnnaweniitiin) Yud Ypws Juwutbpp ndjw Ynndh ognunp Ywd Ypwd Juwut
ku:

Muwjdwuwaph Ynndbph' tppnpn wbdwig uhwndwdp wwpuowynpniyeniiubpp' ubpwnjw| wwjdwuwagph
Yuinwpdwt gngwtiwlnud “Ywwwiwnnih Yupws wy gnpdwppubipp b npwlghg pfunn Wwpunwynpnieniuubipp,
nnipu B wwjdwbwgph Yupquynpdwl nwownhg b sk Ywpnn wqnb wwjdwbwgph Ywwnwpdwl wpryniupl
punniibine pw: Wn gnpdwppubiph L npwughg pfunn Wwpuwynpnuygyniuubiph Ywnwpdwt htn juyyws
hwpwptinnyejniuibipp Ywpgqwynpynud bu wyn gnpdwppltbiph hbin Guwdwsd hwpwpbipnieniuubipp Ywpgwynpnn
unpdtipny, b npwig hwdwp wwinwufuwbwnnt b Ywwywwnni:

8.8 Mwjdwuwghpp sh Ywpnn thnthntudby Ynndbph wwpunwynpniginiubph dwutiwlh shwwnwpdwu
htnlwupny  Yuwd  wdpnnonipjwdp syl Ynndbph  thnfuwnwpd  hwdwdwjunieudp' pwgwnnipjwdp’
Cwjwunwuh <wupwwbnnigjwt opbiunpnpjwip uwhdwudwsd Yupgny wofuwwnwuph Ywunwpdwu hwdwp
wuhpwdtion hiwbuwlwl hwinfwgnuwubiph ujwqbigiwt nbwpbph: Cun npn, wwjdwbwgph ynnubpp'
wwpunwynpayaniutbph  dwubwlh  shwnwpdwt Yud  wdpnnonipiudp  mddwb ynndtiph  thnjuwnwnd
hwdwdawjunyeniut. wuhpwdtipn £ dtinp pbipt bwupwt <wjwunwuh Cwlpwuwbwnypjwu optuunpnipjwdp
uwhdwbdwd Jupgny woluwwnwlph Ywnwpdwt hwdwp  wihpwdbon  $htwbuwlwb hwunlwgnwubph
Uywqtignudp:

8.9 “Ywwwjwnnth Ynndhg unwbdtwd  wwpuwynpnyeiniuubpp sywuiwpbine wd ny wwwnpwé
Ywinwpbint hhdpny wwdwlwghpt wdpnnonypjwdp Ywd dwutiwyh dhwynndwuh |ndkint dwupu dwunignwp
Nuwundhpwnnt hpwwwpwlynwd £ www.procurement.am hwugting gnpdnn  hunbpubnwht  Yuwyph
«Mwjdwlwgptinp dhwynndwuh ndtine dwupt Swungnuwubipy pwdunud® Uotny hpwwywpwldwt wduwphyp:
Hwwwiwnnd, wwjdwbwghpp dhwynndwth dtne Jbpwpbpuy, hwdwpdnd b ywnows dwunigywd’
dwumgnuip, unyt  Yewny  uwhdwudwd  hpwwwpwldbind  hwgnpnnn opywuhg:  Muwydwbwghpu
wdpnnoniejwdp Ywd dwuliwlh dhwinndwuh nistnt dwuhl Swunignuwip nbntywgpnud hpwwwpwyybine opp
Muwwndhpwinnit wju ninwpyynud £ bwl Ywyjwiwnnth bahupntiwiht thnunhu:

8.10 Unyu wwjdwlwgph Yuuwlgnipjudp dwqwsd Jetbpp nidynud bu pwlwlgnipniuutiph dhongny:
Cwdwdwjunyejnit dbinp sptipbn ntiwpnud Yasbpp jnidynud bt nuinwlwt Yupgny:

8.11 Unyu wwjdwuwghpp Yuqudwd b wnwubbipne kohg, Yupdnud £ tiplynt ophuwyhg, npnup niubu
hwjwuwpwgnp  ppwywpwiwlwl  md,  nipwpwugnip Ynndhtt wpdnd £ dblwlw ophtwl: Unyu
Wuwjdwbwgph N1, N2, N 3, N4 U N 4.1 hwybwdutipp, hwdwpynu b wwjdwbwagph wupwdwubh dwup:

8.12 Uny wywydwtwgph htn Yuwws  hwpwpbpnigniubiph Ujwndwdp Yhpwnynd £ Cwjwunwp
Cwupwybnnizjwl hpwyniupp:
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6 [3hdpbnh gpwubyniuwgned 2 26nwn phunwdh punicyndy U2 4,320 0,700 3,024000
B t!:_{uotg&;ulﬁwh hELwunuubnh iknwnpnud/ ©108x3.5UU s 6 45.000 270.000000
8 'Bﬂhu:uh;i.ﬁwu dbinwnuwlwi funnnwlyhg ©40x300 L=24 /pwpawl/ QU 12 2445 29,340000
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10 |LED |nuwwnniubnh inbnwnpned 604w hgnpnipjwidp hwn 14 46,000 644,000000
11 |Ubnwnuywl dwuywyslu F207 ug 0,636 0,150 0,095424
12 |UGndwy NC 20 hwn 28 0,150 4,200000
3 |A1500 aghy hwin 6 5,800 34,800000
14 |Ywhuhs CS 10.3 hwun 6 2,100 12,600000
15 |Ywpuhs ES 1500E hwin 11 6,100 67,100000
15 CUN- 2x16Uu2 hwundwbpny dwinchuh wuglwgnud /dwuywdtund/ ol 322 0,440 14,168000
hEUwujwu vheny
16 CMn- 2x25UU2 hwundwbdpny dwinthuh wliglwgned qu 330.0 0.680 224,400000
fdwwywiltund/onny
17 [R3nuwliph Jhwguwl hwlgnyg P70 hwn 30 2,892 86,760000
GjnLn -3
4-pn Yungh puwhnnh wwyntd thnunpwylbpnid tpuljwidwnpny,
1 puipatiny whlgUuwpwihtnh Upuw u? 5,237 0,700 3,665970
2 |WJGinpn puwhnnhh nbnwthnfund Uhtsle 148 b 9,950 0,600 5,970294




3 [hu6h Lwhuwzbnnh wwinpwunnd h-15ud hwu, 5 0,8085 11,000 8,893500
4 :hbuﬂnl}:::ﬁ‘g:]hwr{rga:ﬁdpbnh wuwinpwuwnned B15 nwuh plinnGhg, & 5,149 40.000 205,960000
5 |Uupwu ©14A500C wpdbpp b | 0,026576 350,000 9,301600
6 |3hdptnph gpwibyniuwgnid 2 26w phuinwdh puniyny U 7.920 0,700 5,544000
- ;I:&?J}wau hGUwynLlubtnh nBnwnpnud/ ©108x3.5Ud L= i 11 45.000 495,000000
8 Mwhnuwy dhnwnwlwl flunnnywljhg ®40x360 L=24 /puwinawly qu 2 2.445 53,790000
11hwwn
9 [ALlwuynibliph L wwhnuwylbnh jauqwbibplynud 2 2kpn 32 25,74 1,000 25,740000
“710 [LED |nLuwwnnilibph inbnwnpnud 604w hqnpnuejwup hwn 11 46,000 506,000000
11 |Ubtnwnwlwl dwuwytl F207 Ug 0,500 0,150 0,074976
12 |UGndwy NC 20 hwtn 22 0,150 3,300000
13 [A1500 &ghy hwuwn 6 5,800 34,800000
14 |Ywfuhy CS 10.3 hwn 6 2,100 12,600000
15 |Ywfhupsy ES 1500E hwtn 8 6,100 48,800000
16 ;gﬂ;ﬁﬂidﬁz:humuwbgnq dwinthuh witigywgnid /dwwwysundy/ qu 25.3 0.440 11.132000
17 f:ﬂ;ui’:j;'frﬁg:‘nﬂq‘“”“"“u R wlagls gl au | 3300 0,680 224,400000
18 |3nuwliph Uhwguwl hwugniyg P70 hwn 24 2,892 69,408000
6jnLn -4

1 :;E?a%‘:ﬂqﬂrilﬁ:ﬁ;?wﬁgﬁn% uLt:nunnwuuunnLu Epuywijwinpny, & 5037 0,700 3.665970
2 |Udtinpn puwhnnhh nbnwihnfuncd dhlsle 146 wnl 9,850 0,600 5,970294
3 |6h bwhuwbnunh wwnpwuinwd h-15ud hwuwn. i 0,8085 11,000 8,893500
& :E;T;::gi:ﬁmt:guphnh wuwwinpwuwnned B15 nwuh pbunnGhg, & 5148 40,000 205,920000
5 |Udpwl ©14A500C wnpdtpp il | 0,026576 350,000 9,301600
6 [3huptph gnwutiynLuwgnid 2 ppun phunnedh puntyny u? 7,920 0,700 5,544000




p- Uhuhwl, Uhuwljwb 32
22 dhlutuhu. gnpd. Jups.
2/2.900292101145
249.22,09215979

£. Bphub, Nyukgn 31
<< Ul[hp]lmpmllll >> tDPE

B ;J;Ougﬂigwuwu hEbwuniuGnh nbnwnpnud/ ©@108x3 50U L= T 11 45,000 495,000000
8 ;'11u;|:un:1ﬁluu Obinwnwywa funnndwlhg ©40x306 L=24 /pupswly al 2 2,445 53.790000
9 |360wuyntlbph b wwhnilwlubph jnunwltnynud 2 sbnn 2 25,74 1,000 25,740000
10 |LED [nLuwinniutinh inbnwnpned 604w hgnpnipjwip huin 1 46,000 506,000000
11 |Ubnwnuwiwl dwwwytu F207 g 0,500 0,150 0,074976
12 [UBnuwly NC 20 hwwn 22 0,150 3,300000
13 |A1500 &ghy hwin 6 5,800 34,800000
‘_\14 Ywfuhs CS 10.3 hwin 6 2,100 12,600000
16 |Ywluhsy ES 1500E hwin 8 6,100 48,800000
C1nN- 2x16UU2 hwwinywdpny dwinthuh wtigyugnid /duwwytuny/
16 htbwujwl Uhgny qu 253 0,440 11,132000
17 S;Tq 2x25uUU2 hwuinywépny dwinthuh wliglwgned /dwuwtuny/ QU 300,0 0.680 204,000000
18 |3nuwlph Uhwgdwl hwlgnyg P70 hn 24 2,892 69,408000
CunwuJtup 6485,32748
Cwhnyp 11% 713,38602
CunwdJtlup 7198,71350
uu3 20% 1439,74270
CunwdJtup 8638,45620
MUSYhrUSNir LuMuLUwNNkr
Uhuhwih hudwylip <<Udbwnhujul Thit Unbwnwd>> UNC




Lwybuwé phy 1

« 25 » ognuwnu  2020. Yupywd
UUUL-CRUUTAR-20/2 dwdlywapny wwjdwlwgnph

Uugbnwynpe puwlwyuw)ph nruwynpnipywl hwdwlhwngbph punjuyudwl Yuwhunuwg

w2huwwnwlplbph
Swywwpbpp-Lwhiwhwhy
Uhwynph Chnwdkhp
NN Uzhuwinwipbtiph widwbnudp 0| bwdwip wndbpp Ihwq Rpwd/
1 2 3 4 5 6
Uugtnwynpe yunpswywl puwywdwiph nruwynpnupgnct
Gjnin -1
4-pn Ywpgh puwhnnh dawynid thnunpwllbnnid Epulwiduwiinpny,
1 puindbing whlgbwewhbnh nuw I 7,142 0,700 4,99905
2 [Uytinpn puwhnnhh nbnwithnfuncd dhsle 140 il 13,569 0,600 8,14131
3 |huéh Lwhuwzbpnh wwiinpwuwnnwd  h-15ud hwun, 6 1,1025 11,000 12,12750
FEwNUE Yewnwht hhiptph wwnpwunnud B15 nwuh pbwinnbhg, 3
4 hlGuun.Gliph huduwp ] 7,02 40,000 280,80000
5 |Uunwu ®14A500C wndbpp unl 0,03624 350,000 12,68400
6 [3huptiph gpwubynLuwgnid 2 2tpwn phinndh puntyny u? 10,800 0,700 7,56000
; ;J;(;?&Ewuwb hEUwujntlubph nbnwnnnul/ ©108x3.5Ud L= an 15 45,000 675,00000
8 Twhnibwy dEnwnwlwh funnndwlyhg ©40x300 L=20 {pwnawly/ QU 30 2.445 73.35000
15hwn
9 [36Gwyynibbiph W wwhnwlutnh jnuqwlpynud 2 kpun ¥ 35,1 1,000 35,10000
10 [LED jnwwwnniubnh inbnwnpnwd 604w hgnpniejwidp hwn 15 46,000 690,00000
11 JUGunwnwywl dwwwytl F207 bag 0,682 0,150 0,10224
12 |Ubnuwl NC 20 hwin 30,000 0,150 4,50000
13 |A1500 aghy huwn 6,000 5,800 34,80000
14 |Ywhuhs CS 10.3 hwn 6,000 2,100 12,60000
15 |Ywhuhs ES 1500E hww | 12,000 6,100 73,20000
CuN- 2x16UU2 hwuinywopny dwinchuh wuglwgnud ldwwywdBuny/
16 Wl Uhgnil qu 34,500 0,440 15,18000
CUN- 2x25UU2 hwwnywbdpny dwinthup wliglwanud
17 /dwwwslnyonny qu 420,000 0,680 285,60000
18 [3nuwliph Uhwguwl hwlignyg P70 hwtn 32 2,892 92,54400
GjnLn -2 0.00000
4-pn ungh puwhnnh Wwynud thnunpuyutpnud Epuywyuwnpny,
(i e Starad g Rupiaihiny dous iy 2,381 0,700 1,66635
2 |UdEnpn plwhnnhh inbnwihnfunud Uhbste 146 wnl 4,523 0,600 2,71377
3 |huéh Lwhiwzbpunh wwinpwunned h-15ud hwuuwn. g 0,3675 11,000 4,04250
4 FEnNUE Yenwhb hhdpiph wwwnpwunnud B15 nuuh phiwnnGhg, § 234 40,000 93,60000
hGGwunlGbph hwdwp
5 |Udpwu ©14A500C wndtpp bl 0,01208 350,000 4,22800
6 [3hudptinh gnwubiynLutugned 2 2t phinnwh guntyny u? 3,600 0,700 2,52000
7 E:(mr:;}wuwh hELwunuubph nbnwnpnw/ ©108x3.5uU L= s 5 45,000 225,00000




8 Twhnilwy sEnwnwywh funnnywlhg ®40x300 L=21 /puupduwly/ Qu 10 2445 24,45000
Shwin
9 [3&Gwunilbiph W wwhntuwlUubph jnuwlbpynud 2 6pm o 1,7 1,000 11,70000
10 |LED jpuwwnniubph nbnwnpnud 604w hgnpnipjwdp hwn 5 46,000 230,00000
11 |Ubunwnuwywl dwwwysl F207 lg 0.227 0,150 0,03408
12 |Ubnuwy NC 20 hww | 10,000 0,150 1,50000
13 |A1500 aghy hwin 4,000 5,800 23,20000
14 [Ywfupy CS 10.3 hwn 3,000 2,100 6,30000
156 |Ywhuhs ES 1500E huwn 6,000 6,100 36,60000
16 CUN- 2x16uUu2 huwwnywspny dwinthuh wlighugnu /dwwywlung/ qu 11.500 0.440 5,06000
hEUwuwly Jheny
CHN- 2x25Uu2 hwwnyuwidpny dwinthuh wligyuwgnud
17 IdwwuwbLnyonny qu 170,000 0,680 115,60000
18 [3nuwlph Uhwgdwl hwugnyg P70 hwn 12 2,892 34,70400
gjnin -3 0,00000
4-pn wngh puwhnnh dawynid thnunpuwutpnud Epulwguwnpny,
1 4,285 0,700 2,99943
pwnéBiny w/huplwewihtph Ynw il
2 [Uytinpn puwhnnhp nbnuwithnfuncd uhlsle 140 nu 8,141 0,600 4,88479
3 |u6h bwhuwzbnunh wwnpwunnwd h-15ud hwuw. hd 0,6615 11,000 7,27650
4 PNl Ywnwiht hhdpbph wwinpwuwnnud B15 nwuh pbuinGhg, § 4212 40,000 168.48000
hGlwujnibbph hwiwp
5 |Uunwl ®14A500C wpdtipp il 0,021744 350,000 7.61040
6 |3huptinh gpwutlnLuwgnLU 2 2tnn phuinnudh puntyny u? 6,480 0,700 4,53600
- _mmﬁwuwu hGUwujntluGph nbnwnpnul! ©108x3.5Ud L= i 9 45,000 405,00000
8 Mwhnlwy denwnwlwa unnnywlhg ©40x368 L=21 /pwnawly/ a 18 2445 44,0100
Shwn
9 [360wunilliph L wwhnuwyubph jnunwltpynud 2 2Epm §° 21,06 1,000 21,06000
10 [LED jnuwwnniutph inbnwnpnid 604w hgnpnugjwdp hwn 9 46,000 414,00000
11 |Ubtnwnwiywil dwwwitl F207 ug 0,409 0,150 0,06134
12 |Ubnuwy NC 20 hwin 18,000 0,150 2,70000
13 |A1500 aghy huwn 4,000 5,800 23,20000
14 |Lwfuhy CS 10.3 hwitn 4,000 2,100 8,40000
15 |Ywhuhs ES 1500E huwin 7,000 6,100 42,70000
16 CnN- 2x16Uu2 hwindwspny dwinchuh wugywgnud /dwwwytund/ sl 20.700 0,440 9,10800
hELwujwl dhgny
CUN- 2x25uUu2 hunywispny dwinthuh wliglwgnud
17 iuuabinonni qu 250,000 0,680 170,00000
18 |3nuwlgh Uhwguwl hwlgniyg P70 hwwn 30 2,892 86,76000
Bjnun -4 0,00000
4-pn Yungh puwhnnh dwynud thnunpwyubpnud Epulwduwinpny,
1 6,665 0,700 466578
Pwnabiny w/hlplwpwihtnh Ynw v
2 (Udbinpn plwhnnhh wibnwiinfunud dhste 140 b 12,664 0,600 7,69856
3 [héh bwhuwbpnh wwinpuuinnwd h-15uu hwutn, §? 1,029 11,000 11,31900
4 REWNUE Yewnwiht hhdpbph wwinpwuwnned B15 nwup phitnnGhg, 5 6,552 40,000 262,08000
htliwuyniGbph hwdwp




o

5 [UWupwl ©14A500C wndbpn wnl | 0,033824 350,000 11,83840

6 |3nupbiph gpwutiynLuwgnud 2 2tpun phinnuuh punyny U2 10,080 0,700 7,05600
Ut : =

k wnwlwl htLwuniuutph wsnwnpnL/ ®108x3.50U L — 14 45,000 630,00000
7000Ud/

8 Nwhnibwy dEnwnwlws funnndwlhg ©40x308 L=26 /pwinéwly au 28 2445 66.46000
14hwwn

9 |3bGwunibbiph W wwhnibwyUbph jnuwbbpynud 2 26pun §° 32,76 1,000 32,76000

10 [LED inuwwnniubph wbnwnpnud 604 hgnpnupjudp hwin 14 46,000 644,00000

11 JUGunwnuwywl dwwjwytl F207 ba 0,636 0,150 0,09542

12 |UbnJwy NC 20 hww | 28,000 0,150 4,20000

13 |A1500 aghy hwin 6,000 5,800 34,80000

14 [Ywpuhs CS 10.3 hwn 6,000 2,100 12,60000

15 |Ywhuhy ES 1500E hwwn 11,000 6,100 67,10000
C1N- 2x16uUU2 hwwnywsdpny dwinthuh wlghwgnid fdwgwidEuny/

16 hbUwujwl dhgny qu 32,200 0,440 14,16800
CHN- 2x25UU2 hwinywspny dwinthuh wlighwgnid

17 JusuElingonny qu 265,000 0,680 180,20000

18 [3nuwliph Uhwgdwl hwlgnig P70 hwn 30 2,892 86,76000

Gjnun -5 0,00000

4-pn Ywngh puwhnnh dwynid thnunpuwlubpnud Epulwidwinpny,

1 puindtiny w/hbpbwpludhbnh Unw oo 0,952 0,700 0,66654

2 |Udtinpn puwhnnhh nbnwthnfuncd Uhlste 140 wnu 1,809 0,600 1,08551

3 [hh bwhuwatnunh wwnpwunnud h-15ud hwuun. g 0,147 11,000 1,61700

4 Rt Yenwht hhipbph wwinpwunnid B15 nwuh pbwnnlhg, 5 0.936 40.000 37.44000
hGGwunLGtph hwdwp

5 |Uupwl @14A500C wpdbpp il | 0,004832 350,000 1,69120

6 [3huptph gnwubyniuwgnid 2 ptpwn phinnwdh puncyny u? 1,440 0,700 1,00800

- Ubtnwnuwlwl htbwuniubnh nbnwnpnud/ ©108x3.5ud heiin 2 45,000 90,00000
L=7000uu/

8 Mwhnulwy sbnwnwlwh unqnywlhg ©40x3018 L=21 Ipwnéwly/ o 4 2,445 9,78000
4hwn

9 [R6Gwuynbbph W wwhnuwlubph jnuqwlbpyncd 2 26pwn 2 4,68 1,000 4,68000

10 [LED jnuwwnniltph nbnwnpnud 604w hgnpnipjwip hwun 2 46,000 92,00000

11 JUnwnwwl dwwwytu F207 ug 0,091 0,150 0.01363

12 |UGnuwy NC 20 hwiwn 4,000 0,150 0,60000

13 |A1500 &ghy hwin 4,000 5,800 23,20000

14 |Ywfuhy CS 10.3 hwn 4,000 2,100 8,40000

15 CUN- 2x16uUU2 hwwnywspny dwinuhuh wliglwgnud /dwuwwdsung/ QU 4,600 0,440 2.02400
hbbwujwl dheny
CHN- 2x25Uu2 hwunwsdpny dwiniuh wligluwgnud

16 Jdwwwdtunyonny qu 60,000 0,680 40,80000

17 |3nuwuph Uhwguwit hwugniyg P70 hwuwn 6 2,892 17,35200

Gjnin -6 0,00000

4-pn Ywingh puwhnnh dawlnud thnunpuwljlpnud Epulywidwinpny,

1 o 3,333 0,700 2,33289
pwndtiny w/hlplwpwihtph ynw

2 |Uytinpn puwhnnhh inbnwihnfuncd Jhusle 140 wnlu 6,332 0,600 3,79928

3 Ihuth bwhiwsbnunh wwwnnwuwnnud h-15ud hwutn. i§ 0.5145 11.000 565950




Btuninut Yswnwjhu hhdptiph wwinpwunnid B15 nwuh pbwnnihg,

3
4 hbGwuniGbph hudwn d 3,276 40,000 131,04000
5 |Uupwl ®14A500C wndtipp ] 0,016912 350,000 5,91920
6 [3hupbnh gpwublynLuwgnid 2 2bnpn phuinwdh puncyny u? 5,040 0,700 3,52800
7 [YEnwnuyuw htLwuntluph itnwnpnud/ ©108x3.50U L= el . 45.000 315,00000
7000uU/
8 ;'Ihu.lwht:I.ELLlll dinwnwywh funnnjwihg ©40x300 L=21 /puwpawly/ qu 14 2.445 34.23000
9 |360wunibbph W wwhnilwyUbph jnunwbbpynwd 2 2bpn §° 16,38 1,000 16,38000
10 [LED jnLuwwnniubnh inbnwnpned 604w hgnpnipjwdp hwn 7 46,000 322,00000
11 |Ubinwnwlywl dwwjwysu F207 Ug 0,318 0,150 0,04771
12 |UBnuwy NC 20 hww | 14,000 0,150 2,10000
13 |A1500 &ghs hwn 6,000 5,800 34,80000
14 |Ywfupy CS 10.3 hwn 6,000 2,100 12,60000
15 |Ywtupy ES 1500E hwwn 5,000 6,100 30,50000
16 C1N- 2x16uUU2 hwinywspny dwiniiuh wliglwgnud /dwwwdsund/ . 16,100 0,440 7.08400
hELwujwu Jheny
CUN- 2x25uUu2 hwinywspny dwinthuh wligywgnuy
17 P —— qu 215,000 0,680 146,20000
18 [Snuwlph Uhwguwl hwlgnyg P70 hwwn 16 2,892 46,27200
ojnun -7 0,00000
4-pn Ywngh puwhnnh dawynid thnunpulutpnud Epulwduwnnny,
g s w/hliplnupuhbnh dpuw iy 9,522 0,700 6,66540
2 |Udtinpn puwhnnhh nbinwthnfuntd Uhlsle 14 wnl 18,092 0,600 10,85508
3 |uéh bwhuwzbpunh wwinpwuwnnud h-15ud hwuun. 6 1.47 11,000 16,17000
4 PGuinnUb Younwihu hhdpbph wwinpwuwnnid B15 nwuh pbwnGhg, & 9,36 40,000 374.40000
hEOwunLbbph hwdwp
5 |Udpwl ®©14A500C wpdbpp il 0,04832 350,000 16,91200
6 |3huptph gnwutlyniuwgnud 2 26nwn phindh puntyny u? 14,400 0,700 10,08000
7 Utinwnuwiwl htbwuniliubnh inbnwnpnud/ ©108x3.50d L= S 20 45,000 90000000
7000uu/
8 Mwhnilwl denwnwlwl funqnywlhg ®40x366 L=24 /pwipéwly/ o 40 2445 97.80000
20hwn
9 [360wunilbiph L wwhnuwlUbph jnunwltnynud 2 2bpm 2 46,8 1,000 46,80000
10 [LED niuwwnniubph inbnwnpnid 804u hgnpnipjwip hwn 20 46,000 920,00000
11 Ubinwnuiwl dwujwytu F207 Ug 0,909 0,150 0,13632
12 JUGnuwy NC 20 hww | 40,000 0,150 6,00000
13 [A1500 aghs hwan | 8,000 5,800 46,40000
14 Ywfuhy CS 10.3 hwn 8,000 2,100 16,80000
15 |Ywtuhs ES 1500E hww | 16,000 6,100 97,60000
16 C1N- 2x16UU2 hwindwspny dwinthuh wlglwgnud /dwuwwysund/ o 46,000 0,440 20,24000
hEUwuywu uhgny
C1N- 2x25Uu2 hwuinwiopny dwinituh wiglwgnud
620,00 0,680 421,60000
i e - o .
18 |3nuwliph Uhwguwl hwugnyg P70 hwn 42 2,892 121,48400
ojnLn -8 0,00000




4-pn Ywingh puwhnnh dawynid thnunpuwlubpncd Epulwywinpnd,
1 pwindtiny w/hlplwpwihtnh puw & 2,381 0,700 1,66635
2 (Udtinpn plwhnnhh ubnwidinfunud Uhtsle 140 wnl 4,523 0,600 2,71377
3 [hu6h Lwhiwgbnunh wwinpwunnd h-15uU hwuwn, hR 0,3675 11,000 4,04250
REnNUE YEnwiht hhipbiph wwinpwuwnnid B15 quuh pbwnnGhg, 3
4 2,34 40, !
hbGuwujnuGlph hudwn u p A.000 SRipnde
5 |Udpwl ®14A500C wndtpp b | 0,01208 350,000 4,22800
6 |3hupbnh gnuidtlnLuwgnid 2 26pwn phuinuh puncyny U 3,600 0,700 2,52000
- Utnwnuwiywl htbwuynilubph nbnwnpnul/ ©108x3.5u0d L= i 5 45,000 225,00000
7000ud/
8 Mwhnibwl denwnwlwl funnnywlhg ©40x360 L=24 /pwipéwly/ qu 10 2445 24,45000
Shuwn
9 [360wuniGliph L wwhnuiwylbnph jnuqwltpynud 2 s6pm il 4.7 1,000 11,70000
10 [LED nruwwnniubph inbnwnpnud 604u hgnpnipjwdp hwin 5 46,000 230,00000
11 |UGunwnuwiwl dwwwytl F207 lg 0,227 0,150 0,03408
12 |Ubnuwly NC 20 hwn 10,000 0,150 1,50000
13 |A1500 &ghy hwn 4,000 5,800 23,20000
14 |Ywhuhy CS 10.3 hwin 4,000 2,100 8,40000
15 |Ywhuhy ES 1500E hwn 3,000 6,100 18,30000
CUN- 2x16Ud2 hwindwspny dwinthuh wlglwgnid /dwwwytlind/
16 htwujwl Uhgny qu 11,500 0,440 5,06000
CUN- 2x25uUU2 hunywdpny dwinituh wliglwgned
17 P — qu 140,000 0,680 95,20000
18 |3nuwlph Uhwgdwl hwugnyg P70 hwn 12 2,892 34,70400
6jnLn -9 0,00000
4-pn Ywngh puwhnnh dawynud thnunpwlubpnud Epuyuwywnpny,
1 P&ty w/hplwpuwdbnh dnw i 4,285 0,700 2,99943
2 |Uytinpn puwhnnhh nbnwihnfuncd uhlste 140 wu 8,141 0,600 4,88479
3 |héh bwhiwbnnh wwinpwunnd h-15ud hwuwn. §? 0,6615 11,000 7,27650
4 PEwnnlt Yhwnught hhipbph wwinpwuwnnud B15 nwuh phwnnGhg, # 4,212 40,000 168,48000
hblwujnlbph hwidwp
5 |Udpwl ®14A500C wndtpp nl | 0,021744 350,000 7,61040
6 |3hupbnh gnuublyniuwgnud 2 2knun phunwh puncyng U 6,480 0,700 4,53600
7 ;I(i}:{;x;tajjwuwu hEUwuntlubph nbnwnpnud/ ®108x3.5Ud L= Gk 9 45,000 405,00000
o ;thﬂ:IL:LﬁLuh dhnwnwlwa funqnwlhg ©40x364 L=20 /pupawly U 18 2445 44,01000
9 [360wuynilbph L wwhnuwllbph jnuquwlbplynud 2 2bpn 52 21,08 1,000 21,06000
10 [LED niuwwnnilbph ibnwnpnud 604un hgnpnupuwidp hwtn 9 46,000 414,00000
11 |Uinwnuwl dwuywydtl F207 g 0,409 0,150 0,06134
12 |UbnUwy NC 20 hwwn 18,000 0,150 2,70000
13 |A1500 aghy hwun 4,000 5,800 23,20000
14 |Ywhuhs CS 10.3 hwn 4,000 2,100 8,40000
15 [Ywfuhs ES 1500E hwin 7,000 6,100 42,70000
16 CnN- 2x16Uu2 hwwinywapny dwinthuh wbiglugnuy /dwwusund/ au 20,700 0,440 9,10800
hUwujwu uheny
.~ 1CnN- 2x25Uu2 hwuindwdpny dwinthuh wligbwgnud : r ARA R S AR




= il 3 11U,UUuuU
P duniuiiBlindionnd qu £DU,UUU u,bsu
18 |3nuwph Uhwguwl hwlgnyg P70 hwuwn 20 2,892 57,84000
gjnn -10 0,00000
4-pn Ywngh pUwhnnh dawyned thnunpuwlubnnu Epuljwdwanpny, 0.70 1 66635
: pwnatiny w/huplwpwihtph ypw o i i i '
2 |Udtinpn puwhnnhh wbnqwihnfuncs Uhlste 146 b 4,523 0,600 2,71377
3 |éh bwhiwzbnunh wwnpwuwnnd h-15ud hwun., §° 0,3675 11,000 4,04250
4 PGNUE Yswwihu hhdpbph wwwnpwuwnned B15 quuh phinnthg, & 234 40,000 93.60000
htGwuyniGbph hwdwp
5 |Udnwl ©14A500C wnpdtipp il 0,01208 350,000 4,22800
6 |3huptinh gpwutyniuwgniy 2 26nwn phinnwdh puntyny u? 3,600 0,700 2,52000
7 ;.g:(;?ﬁ;}wlmu hELwuntlutph nbnwnpnud/ ©108x3.5UU L= Biiis 5 45,000 225,00000
8 Muwhnilwl dEnwnwlwb funnnywlhg @40x366 L=24 /pwpawly/ a 10 2.445 24,45000
Shwn
9 |360wuniGliph W wwhnuwlubsph jnuqwutnynud 2 26pn i & b 1,000 11,70000
10 |LED jnwuwinniubph inbnwnpnd 604n hgnpnipjwdp hwn 5 46,000 230,00000
11 |Ubnwnwywl dwwwltlu F207 ug 0,227 0,150 0,03408
12 |UbnUwly NC 20 hwwn 10,000 0,150 1,50000
13 |A1500 dghs hwwn | 4,000 5,800 23,20000
14 [Ywfuhy CS 10.3 hwun 4,000 2,100 8,40000
15 |Ywhuhy ES 1500E hww | 3,000 6,100 18,30000
16 CHN- 2x16UU2 hwinywbpny Jwinthuh wuglwgnud /dwwywdtund/ QU 11,500 0.440 5,06000
hBbwujwu dhgny
CUN- 2x25Uu2 hwundwbdpny duwinihuh wliglwgned
17 A qu 140,000 0,680 95,20000
18 |3nuwlph Uvhwgdwl hwugnyg P70 hwun 12 2,892 34,70400
ojnin -11 0,00000
4-pn wpgh plwhnnh dwynid thnunpwubpnud Epuljwiwinpnd,
1 1,428 0,700 0,99981
puidbiny whbpbwpwihnh U i
2 (Uytinpn puwhnnph nbnwihntuncd dhbsle 146 il 2,714 0,600 1,62826
3 |huéh bwhuw2bpnh wwnpwuwnned h-15ud hwuun. g 0,2205 11,000 2,42550
PEwnUE Ybwnwht hhdptiph wwunpwuwnnud B15 nwuh phinnihg, 3
4 htGwuynLbph hudin g 1,404 40,000 56,16000
5 |Udpwu ©14A500C wndtpp wnu | 0,007248 350,000 2,53680
6 [3huptiph gnwutyniuwgnud 2 26nwn phinnudh puntyny U2 2,160 0,700 1,51200
B ;Jé:(;g;.:;:mhu.lu hEbwunulEph nbnwnpnud/ ©108x3.5UJ L= — 3 45.000 135,00000
8 ;nhlt.uhl:mwu GEnwnwwh funnnjwlhg ®40x300 L=24 /pwpawly/ qu 6 2.445 14,67000
9 [[blwunibbph W wwhnuwyUutph jnuqwubplynud 2 26pn g 7.02 1,000 7,02000
10 [LED nuwwnnilbph nbnwnpnud 604u hgnpnipjwidp hwtn 3 46,000 138,00000
11 |Ubinwnuijwl dwywytu F207 yg 0,136 0,150 0,02045
12 [Ubnuwly NC 20 hww | 6,000 0,150 0,90000
13 |A1500 aghy hwwn 4,000 5,800 23,20000
14 |Ywfuhs CS 10.3 huwtn 4,000 2,100 8,40000




15 [Uwfuhs ES 1500E hwin 1,000 6,100 6,10000
C1N- 2x16Uu2 hwuindwopny dwinitup wlglwgniy ldwwwytuny/
16 hbbwujuils hgny qu 6,900 0,440 3,03600
C1N- 2x25uUu2 huwinywdpny dwinthuh wbghwanud
U 120,000 0,68 81,60000
"7 | idugwybung/onny 9 0 .
18 |3nuwlph uhwguwu hwlgnyg P70 hwn 8 2,892 23,13600
ojnun -12 0,00000
4-pn Yuingh puwhnnh dpwynd tnunpuwlubnnud Epulwidwinpny,
1 4,761 700 3,3327
P8ty w/hlpUwRWPGR U £ : ‘
2 |Uytinpn puwhnnhh nbnwhnfuncd dhlste 146 il 9,046 0,600 5,42754
3 |héh bwhiwztpnh wwinpwunned h-15ud hwun. s 0,735 11,000 8,08500
PEwnlt Ybinwht hhdpbph wwnpwunnud B15 quuph pkunnthg, 3
4 hbiGwuyneGhph husdun i 4,68 40,000 187,20000
5 |Wpwu ®14A500C wndtipn wnu 0,02416 350,000 8,45600
6 [3huptinh gpwubynLuwgnid 2 26w phunnudh puncyny u? 7,200 0,700 5,04000
i .l;fgc:gﬁgwmuu hELwunliubph nbnwnpnwd/ ©108x3.50U L= i 10 45,000 450,00000
8 TMwhnilwly dEnwnwlwh funnnywlhg ©40x300 L=20 /pwndwly/ . 20 2445 48.90000
10hwn
9 [A6Gwunibbph L wwhnwlubph jncnuwikpyned 2 skpin 6 23,4 1,000 23,40000
10 |LED |nLuwwnniubph intnwnpnud 604w hgnpnuejwdp hwtn 10 46,000 460,00000
11 |Ubinwnwlywl dwwjwisu F207 Ug 0,454 0,150 0,06816
12 |Ubnuwly NC 20 hwwn | 20,000 0,150 3,00000
13 |A1500 aghs hwn 6,000 5,800 34,80000
14 |Ywfupy CS 10.3 hwn 6,000 2,100 12,60000
15 |Ywhuhs ES 1500E huwin 7,000 6,100 42,70000
16 C1N- 2x16UU2 hwindwspny dwintjuh wuglwgnud /dwwwytund/ a 23,000 0.440 10,12000
hEbwujwu vhgny
CUM- 2x25UU2 hwunywspny dwinthuh wliglwgnuy 2 000
17, it aniii qu | 300,000 0,680 04,00
18 |3nuwlph Uhwguwl hwugnig P70 hwn 22 2,892 63,62400
GjnLn -13 0,00000
4-pn wngh pluwhnnh Wzwynid thnunpubupnw Epuljwydwinpnd, 0.70 1 08
" |pwnatiny whtpbwpwihtnh dnuw ¢ | e i s
2 (Uytinpn puwhnnhh nbnuithnfunud Uhlsle 140 inu 3,618 0,600 2,17102
3 |huéh bwhuwzbpnh wwnnwunnwd h-15ud hwutn, §° 0,294 11,000 3,23400
4 PhwnnUt Yanwht hhiplinh wwinpwunnud B15 nwuh phnnthg, & 1,872 40,000 74,88000
hbGwuyntGbph hwdwnp
5 |Udpwl ©14A500C wpdbpp il 0,009664 350,000 3,38240
6 [3huptph gnwutyniuwgnud 2 26nwn phinnudh puntyny s 2,880 0,700 2,01600
5 Utinwnuwywu hEuwuniiltph inbnwnpnud/ ®108x3.5ud L= i i 45,000 180,00000
7000Ud/
8 Mwhnibwl dEnwnwlwh funnnywlhg ©40x300 L=20 /pwnawly/ il 8 2.445 19,56000
4hwn
9 |3G0wunlbiph W wwhntuwyubnh jnuqwlipynwd 2 26pwn hg 9,36 1,000 9,36000
10 [LED |nuuwwnniutph inbnwnpnud 604w hqnpnuejwdp hwin 4 46,000 184,00000
11 JUGunwnwlwl dwwwytl F207 Lg 0,182 0,150 0,02726




12 |Ubnuwly NC 20 hwn 8,000 0,150 1,20000
13 |A1500 dghy hwwn 4,000 5,800 23,20000
14 {Uwuhy CS 10.3 hwn 4,000 2,100 8,40000
15 |Ywiuhy ES 1500E hwin 2,000 6,100 12,20000
16 cun- 2x16Uu2 hwinduwbpny dwintpuh wlglugnud /dwujwytuny/ o 9,200 0,440 4.04800
helwujwl dhegny
cun- 2x25uUu2 hwwnywdpny dwinthuh wlgyuwgned J 110
,000 0,680 74,80000
7 | gwwsuny/onny a o
18 |3nuwlph Jhwgdwl hwugnyg P70 hwn 10 2,892 28,92000
gynin -14 0,00000
4-pn Ywngh puwhnnh dawynud thnunpuwlutnnud Epuljuduinnpny, .
1 g 3,333 0,700 2,33289
pwpatiny w/huplwpwitnh ypw
2 |UWytinpn puwhnnhh nbnwthnfuncd uhbste 140 wnu 6,332 0,600 3,79928
3 |huéh Lwhuwpbpnh wwunpwunnud h-15uU hwuuwn. 6 0,5145 11,000 5,65950
4 Phwnnut Yewnwyht hhipbph wwupwuwnnud B15 nwuh ptivinbhg, & 3.276 40,000 131,04000
hiGwuyntObph hwdwp
5 |UUpwu ©14A500C wndtpn wmu | 0,016912 350,000 5,91920
6 |3huptnh gpwutyniuwgnud 2 2nn phuinwdh puncyny u? 5,040 0,700 3,52800
- Utinwnuiywl hEbwuniutnph nbnwnpnud/ ®108x3.5Ud L= Nediski 7 45,000 315,00000
7000uU/
8 NuwhniGwl dnwnwlws unqnywlhg ©40x3068 L=24 /pwnawly/ - 14 2 445 34.23000
Thuwun
9 |36GwuyniGlph W wwhniuwlusph jnuquititpynud 2 26pn §? 16,38 1,000 16,38000
10 |LED |nLuwwnniutph inbnwnpnd 604 hgnpniejwdp hwin 7 46,000 322,00000
11 |Ubinwnuwiywl dwwwysu F207 ug 0,318 0,150 0,04771
12 |Ubndwy NC 20 hwwn | 14,000 0,150 2,10000
13 |A1500 aghs hwn 4,000 5,800 23,20000
14 |Ywfuhs CS 10.3 hwn 4,000 2,100 8,40000
15 |Uwpuhs ES 1500E huwwn 5,000 6,100 30,50000
CUN- 2x16UU2 hwindwspny dwinchuh wuglwgnud /dwuwgsund/
b hEUwujwl Uhpny qu 16,100 0,440 7,08400
CUN- 2x25UU2 hwwndwdpny dwinuhuh wugywgnud
17 Jdungutund/onny qu 220,000 0,680 149,60000
18 |3nuwlph Uhwguwl hwugnyg P70 hwwn 16 2,892 46,27200
Gjnun -15 0,00000
4-pn Ywpgh plwhnnh Wwynid thnunpwlubpnud Epulywidwiinpny,
1 1 7
pwpatan whbgbupuahbnh Upw u? 2,38 0,700 1,66635
2 |Udtinpn puwhnnhh nbnwihnfunud uhlste 1406 wnu 4,523 0,600 2,71377
3 |h6h bwhuwzbnunh wwnpwunnwd h-15ud hwuwn. M 0,3675 11,000 4,04250
PEwnnuk Yewnwihu hhdptph wwinpwuwnnwd B15 nuuh pbnnthg, 3
? htGwuyntGbph hwiwp G 2,34 40,000 93,60000
5 [Udpwl ®14A500C wndtpp wnlu 0,01208 350,000 4,22800
6 |3huptph gnwubyntuwgnud 2 26pwn phunwdh puntyny u? 3,600 0,700 2,52000
8]+ L hEl v b o} ; =
; . Ol.(n;'.Jqu["[“wuw Lwuntuubph tnbnwnpned/ @108x3.5Ud L _— 5 45,000 225,00000
m (1] =
8 whntOwl Senwnwlwh funnnywlyhg ©40x3046 L=24 /puwipawly/ a 10 2,445 2445000
Shwwn
9 BEOwunibbnh LW wwhnuwbluEnh inunwlbnunud 2 2Bnun i 11.7 1.000 11.70000




" . P IR e e

10 |LED jnuwwnniutinh wbnuwnpnud 604 hanpnugjudp hwn 5 46,000 230,00000
11 |Ubinwnuwiwu dwwwytu F207 g 0,227 0,150 0,03408
12 |Ubnuwy NC 20 hwuw | 10,000 0,150 1,50000
13 |A1500 aghy hwn 4,000 5,800 23,20000
14 |Ywpupy CS 10.3 huwn 4,000 2,100 8,40000
15 |Ywiuhs ES 1500E huwiwn 3,000 6,100 18,30000
C1N- 2x16Uu2 hwwindwdpny dwinthuh wlglugnud /dwwwysund/ 0 04 5.06000
16 T qu 11,50 .440 ,06
17 CUMN- 2x25UU2 hwinywdpny Jwinchuh wglwgnud qu 160,000 0,680 108,80000
/dwwwituny/onny
18 |3nuwlph Uhwgdwl hwlgnyg P70 hwn 12 2,892 34,70400
GjnLn -16 0,00000
4-nn Ywngh puwhnnh vwined thnunpwlutpnud Epuljwduwiinpny, 1904 0700 133308
! | pwnating wihtplwpuwibnh dnw l 92 | :
2 |Uytinnn puwhnnhh nbnwihnfuncd Uhlste 140 wnlu 3,618 0,600 2,17102
3 [héh bwhuwgzbpunh wwwnpwuinnwd h-15ud hwun. i 0,294 11,000 3,23400
4 Pbwnub Yewnwght hhdpbiph wwnpwuwnnid B15 nuup pinnbhg, § 1.872 40,000 74.88000
hbGwuynibbph hwdwp
5 |Udpwl ®14A500C wpdtipp wnu | 0,009664 350,000 3,38240
6 [3hupknh gnuwubyniuwgnud 2 2bpun phinnudh puntyny v 2,880 0,700 2,01600
B I%Jgsgl.irl}wuwb htUwunilutph nbnwnpnud/ ©108x3.5UU L= gt 4 45,000 180,00000
8 Mwhntlwl denwnwlywo funnnuyhg ©40x38d L=24 /pundwly/ auf 8 2445 19,56000
4hwuwn
9 |36Owuynilbph W wwhniwlubph jnuqwiubnynud 2 2bpn o 9,36 1,000 9,36000
10 |LED nruwwnniutph inbnwnpnud 604un hgnpnugjudp hwwn 4 46,000 184,00000
11 |Ubnwnwiywl dwwwysl F207 La 0,182 0,150 0,02726
12 |Ubnuwy NC 20 hwn 8,000 0,150 1,20000
13 |A1500 aghy hwn 4,000 5,800 23,20000
14 [Ywftuhy CS 10.3 hwin 4,000 2,100 8,40000
15 |4wfuhs ES 1500E hwin 5,000 6,100 30,50000
cMN- 2x16UU2 hwindwdpny Uwinihuh wuglwgnid /dwujwydtuny/
16 hbwuswls Uhond qu 2,000 0,440 0,88000
cun- 2x25uUu2 hwunlwdpny dwinthuh wuglyugnud
17 il qu 90,000 0,680 61,20000
18 [3nuwlph Uhwgdwl hwugnyg P70 hwn 10 2,892 28,92000
GjnLn -17 0,00000
4-nn Yuwngh plwhnnh dawlynid thnunpwlubpnud Epulwiduwnpny,
1 6,189 0,70 4,33251
pwpabiny w/hupliwpwihtph Unw W i e
2 |Uytinpn puwhnnhh nbnwhnfunud Upbsle 144 nu 11,760 0,600 7,05580
3 |héh bwhiw2bpnh wwinpwunnu h-15ud huwun, 5 0,9555 11,000 10,51050
Pbwnnut Yewnwihu hhdpbph wwwnpwuwnnid B15 nwuh pininGhg, 3
4 P A A i 6,084 40,000 243,36000
5 |Udpwl ©14A500C wndtpp nu 0,031408 350,000 10,99280
6 [3hdpbnph gpwubyniuwgnud 2 26npwn phuinwdh puncyniy u? 9,360 0,700 6,55200




Ub n =
7 TO(ESJer}wuwu GuwuniuuEph nenwnpnud/ ®108x3.5uU L By 13 45.000 585,00000
8 MwhniGwl sEnwnwlwa funnnywlhg ©40x308 L=20 /pwinéwly o 2% 2.445 63.57000
13hwwn
9 |360wunilbiph L wwhnuwllbph jnuqwlutpynud 2 26pwm 02 30,42 1,000 30,42000
10 [LED jnuwwnniltiph wnwnpnid 604 hqnpnpjwup hwun 13 46,000 598,00000
11 |UGinwnuwiywl dwwwybu F207 Ug 0,591 0,150 0,08861
12 |Ubnuwly NC 20 huwin 26,000 0,150 3,90000
13 |A1500 aghy hwtn 8,000 5,800 46,40000
14 [Ywhuhs CS 10.3 hwuwn 8,000 2,100 16,80000
15 |Ywfiuhs ES 1500E hwn 9,000 6.100 54,90000
cnn- 2x16UU2 hwuindwdpny dwinihuh wglwgnid /dwwywdbung/
16 hbUwujuwl Uhgny qd 29,900 0,440 13,15600
CUN- 2x25Uu2 hwundwdpny Uwinithuh wiglugnud
G b d /dwuwyblny/onny qu 390,000 0,680 265,20000
18 |3nuwliph Uhwgduwit hwlgnyg P70 hwwn 28 2,892 80,97600
CunwdJtlup 21484,2907800
Cwhnyp 1% 2363,2719858
Cunwdtlup 23847,5627658
uu3 20% 4769,5125532
Cunwudtup 28617,0753190
nuUSdYbhrusSnr LUMULUWMHNR
Uhuhwih hwdwjlp <<Udbkwnhujwt Thit Unlnnwd>> UNC

p- Uhuhwl, Uhuwljwi 32
22 dhtnhwpu. gqnpd. Jupy.
£/2,900292101145
242209215979

£, Gphwt, Niyukgn 31
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Swbwé phy 1
« 25 » ognuwnnu 2020. Yupywd
UUUL-<PUUTAR-20/2 dwdlwgnny wwdwlwgph

Uznunwywl puwlwduwyph nruwynpnepjuwl hwdwwpgbph punpujudwl Juuhuwg

w2huwnwupubph
Swywwprtnp-Lwuwhwhy
Uhwynph COnwakOp
NN Uzhuwinwbpbbph whywlniudp 0| dwduwyp wpdbipn fhwgq npwd/
1 2 3 4 5 6
Upnunwdwl Juipswiwl puwlwdwiph (nruwynpnepgnil
gjncn -1
4-nn Yuwngh puwhnnh ywynid thnunpuwyubpnud Epuludwiinpny, 4
1 cwrstand wbletauRARAh e u® 4,285 0,700 2,999430
2 |Udtinpn puwhnnhh nbnwihnfuncd Jhtsle 140 il 8,141 0,600 4,884786
3 |héh bwhwzEpunh wwwnpwunned h-15ud hwuw,  |g® 0,6615 11,000 7,276500
4 PEwnUt Yewnwhu hhdpbph wwwnpwuwnnud B15 nwup phnnbhg, e 4212 40,000 168,480000
hGGwuynilbph hwdwp
5 |Udnwu ©14A500C wndbpp b 0,02174 350,000 7,609000
6 |3hdptph gnwdtyniuwgnud 2 26nwn phunnwdh puncyny U 6,480 0,700 4,536000
7 Utitnwnwlwl hELwuwnuleph nbnwnpnuwd/ ®108x3.5UU L= —— 9 45,000 405,000000
7000uu/
5 Muwhntlwl dEnwnwlwh funnnwlyhg ©40x3040 L=24 /pwinawly/ U 18 2445 44,010000
9hwin
9 [360wunlGepp W wwhnibwyuGph jnuqulGpyned 2 26pwn i 21,06 1,000 21,060000
10 |LED nuwwnniubph nGnwnpnud 604 hgnpniejwdp hwwn 9 46,000 414,000000
11 |Ubnwnwiwl dwwuwybu F207 ug 0,409 0,150 0,061350
12 |Ubnuwly NC 20 huin 18,000 0,150 2,700000
13 |A1500 dghs hwtn 9,000 5,800 52,200000
14 |Ywhuhy CS 10.3 hwwn 9,000 2,100 18,900000
15 |Ywiuhs ES 1500E hwin 7,000 6,100 42,700000
CUn- 2x16Uu2 hwunywbdpny dwinthuh wiglwgnud /dwwwdtund/
16 Kenpuhi ol qu 20,700 0,440 9,108000
c1n- 2x25Uu2 hwinwsdpny dwinchuh wliglwgnd
17 Ichianbisbionn qu 270,000 0,680 183,600000
18 |3nuwlph Uhwguwl hwlgnyg P70 huwin 20 2,892 57,840000
Gjnin -2 0,000000
4-pn Ywpgh puwhnnh dawynwd thnunpwyutpnuwd Epulwdwnnny,
7.14 . .
L e o O ¢ 142 0,700 4,999050
2 |UyEnpn puwhnnhh nbqwthnfuncd dhlsle 144 b 13,569 0,600 8,141310
3 |huéh bwuw2Epnh wwwpwuwmnud h-15ud hwuwn. o 1,1025 11,000 12,127500




HEUNUG YGENWINU NPURGAN WWWPWUINNLY B15 fuup pewnupg,

3
4 Wilkcgnufibingi eslin il 7.02 40,000 280,800000
5 |Udnwl ®14A500C wndtipp wl 0.03624 350,000 12,684000
6 |3huptinh ppwutiynLuwgned 2 2tnwn phinwh puntyny i 10,800 0,700 7,560000
K Utinwnuiwu htbwuniiutnh nenwnnnud/ ®108x3.5Ud L= e 15 45,000 675,000000
7000uu/
8 Muwhnibwl dEnwnwlwi funnnywlhg @40x300 L=20 /pwnpawly/ o 30 2.445 73,350000
15hwn
9 |360wuynibbph L wwhnuwlubph jnunwltpynud 2 26pn 2 351 1,000 35,100000
10 |LED nuuwwnniltph inbnwnpnwd 604un hgnpnugjudp hwn 15 46,000 690,000000
11 |Ubunwnwlwl dwwwytu F207 Ua 0,682 0,150 0,102240
12 |Ubnuwy NC 20 hwiwn 30,000 0,150 4,500000
13 |A1500 &ghs hwin 5,000 5,800 29,000000
14 |Ywhuhy CS 10.3 hwn 5,000 2,100 10,500000
15 |Ywhuhs ES 1500E hwn 12,000 6,100 73,200000
16 CUN- 2x16UU2 hwunywdpny Jwinthuh wuglwgnid /dwuywytund/ o 34,500 0.440 15.180000
hUwuwl uheny
CUN- 2x25Uu2 hwinywbpny dwinchuh wuglwgnud
17 Jdwuywdtunyonny qu 420,000 0,680 285,600000
18 [3nuwlph Jhwgdwl hwlgnyg P70 hwin 32 2,892 92,544000
gjnin -3 0,000000
4-pn Yuipgh pUwhnnh vzwynwd thnunpuiubpnud Epulwdwnpny,
1 sty skt dhw u? 3,333 0,700 2,332890
2 |UJtinpn puwhnnhh wnbnwihnfunud Uhlsle 146 il 6,332 0,600 3,799278
3 [huéh Lwhuwztninh wwwnpwuwnnwd h-15ud hwuun, §° 0,5145 11,000 5659500
PGnnUt YEwnwiht hhdpbph wwwpwuwnnwd B15 nwuh phinnGhg, 5
4
hbGwuniGbph hwdwp (] 3,276 40,000 131,040000
5 |Udpwu ©14A500C wpdtpp b 0,016912 350,000 5,919200
6 |3hdptph gnwdtlyniuwgnud 2 26pwn phuinwh puncyny u? 5,040 0,700 3,628000
- UGuinwnwlwl hEuwuntbbph nbnwnpnud/ @108x3.5Ud L= S - 45,000 315,000000
7000uU/
8 ;nrtj::,:mwu GEnwnwlw funnnywlhg ®40x3060 L=24 /pwpéwly/ qu 14 2,445 34,230000
9 [RbtGwunbbph W wwhnuwylbph jnequubpynud 2 2tpn §? 16,38 1,000 16,380000
10 [LED jnuuwwnniubph iGnwnpnud 604wn hqnpnue)wdp hwtn 7 46,000 322,000000
11 |UBlnwnuwywl dwuywyslu F207 Ug 0,318 0,150 0,047712
12 |UbnUwy NC 20 hwwn 14,000 0,150 2,100000
13 |A1500 aghy huwn 4,000 5,800 23,200000
14 |Ywfuhs CS 10.3 hwwn 4,000 2.100 8,400000




19 |Mwrune £S5 1500E nwwn H,u0u 6, 10U 3U,500uLU
C1N- 2x16Uu2 hwunyuwdpny dwinthuh wuglwgned /dwuwdsund/
1
6 hebwuwl Uheny qu 16,100 0,440 7,084000
17 CUN- 2x25UU2 hwinywdpny dwinchuh wbglwgnud ail 210,000 0.680 142,800000
Idwwwytund/onny
18 |3nuwiiph Uhwguwl hwugnyg P70 hwwn 16 2,892 46,272000
Gjnin -4 0,000000
4-pn Ywpgh puwhnnh dwynid thnunpuyubpnud Epuljwduinnpny,
1 cusnabiny uihlgluupushbinh U U 3,333 0,700 2,332890
2 |Udtinpn pbwhnnhp nbnwiinfuncd Uhbgle 1406 wnl 6,332 0,600 3,799278
3 |huéh Lwhuwzbnpunh wwunpuwunned h-15ud hwun, 5 0,5145 11,000 5,659500
4 PEwnnut Yswnwyhu hhdpbph wwinpwunnud B15 nwuh pbinnihg, Bt 3.276 40.000 131,040000
hGwuynilbph hwdwp
5 |Udpwl ©14A500C wndtpn nl 0,016912 350,000 5,919200
6 [3hdptph gpwuUtyniuwgnid 2 26pun phunnudh pundyny u? 5,040 0,700 3,528000
- Ubnwnuwywl hEbwunibubnph wnenunpnud/ @108x3.5Ud L= _— 7 45.000 315,000000
7000uu/
8 ;ﬂhu:uh:-ltﬁwu dbnwnwywa funnnywlhg ©40x300 L=20 /pwpawly/ l 14 2445 34.230000
9 |360wunubbpp L wwhniuwubnh jnuqutpynud 2 26pwn i 16,38 1,000 16,380000
10 |LED (nruwwnniutiph inbnwnpnwd 604w hgnpniejuwdp hwuwn T 46,000 322,000000
11 |Utinwnwiywl dwwwdsl F207 bag 0,318 0,150 0,047712
12 |Ubnuwy NC 20 hwn 14,000 0,150 2,100000
13 |A1500 &ghy hwn 4,000 5,800 23,200000
14 |Ywhuhy CS 10.3 hwin 4,000 2,100 8,400000
15 |Ywhuhs ES 1500E hwwn 5,000 6,100 30,500000
16 cun- 2x16Ud2 hwundwdpny Jwinchuh wuglwgnud /dwwywdsund/ il 16.100 0.440 7.084000
hEbwuywl Jheny
17 CM- 2x25Ud2 huwunyuwbdpny Jwinchuh wuglwgnud - 210,000 0,680 142.800000
Idwuywidsund/onny
18 [3nuwlgh dhwguwl hwugniyg P70 hwin 20 2,892 57,840000
Bjnin -5 0,000000
4-nn Ywpgh puwhnnh dzwynwd thnunpuwyutnnud Epuyuwdwnpny,
b Lot uohslasuhbnh d u? 8,570 0,700 5,998860
2 |UdGinpn puwhnnhh inbnwehnfunid dhbste 14 il 16,283 0,600 9,769572
3 |héh bwhiwgbnunh wwnpwuwnned h-15ud hwun. §° 1,323 11,000 14,553000
4 Pbuninut Yewwihu hhdpbph wwwnpwuwnned B15 nwup phinnbhg, e 8.424 40,000 336,960000
hGGwuynibtph hwdwp
5 |Udpwl ®14A500C wndbpn wnl 0,043488 350,000 15,220800
6 [3hdetph pnwdtyniuwgnud 2 26nun phunwh punuyny o2 12,960 0,700 9,072000
- EIP:J:U:IF.]‘LLIHLUU htUwunLubnh wnbnwnpnud/ ®@108x3.5UU L= gk 18 45.000 810.000000




ruvuuw/

Mwhnibwl denwnwywb funnnywlyhg ®40x300 L=24 /pwpawly/

8 18huwn qu 36 2,445 88,020000
9 [36Gwuynilbph W wwhniuwutnh jaunwtnynud 2 2kpn e 42,12 1,000 42,120000
10 |LED |nLuwwnniutnh intnwnpnid 604w hgnpniejwudp hwwn 18 46,000 628,000000
11 |Ubuinwnwlywl dwwwytu F207 lug 0,818 0,150 0,122688
12 |Ubnuwy NC 20 hwin 36,000 0,150 5,400000
13 |A1500 dghs hwn 6,000 5,800 34,800000
14 [Ywiuhy CS 10.3 hwn 6,000 2,100 12,600000
15 [Ywfuhs ES 1500E hwiwn 15,000 6,100 91,500000
16 CHn- 2x16uUu2 hwunywspny dwinihuh wliglwgnud /dwwuwdBuny/ qu 41.400 0,440 18.216000
hEuwujwu dhpny
CN- 2x25Uu2 hwunydwdpnd Jwinitbuh wuglwgnud
17 iouwglibndionm| qu 520,000 0,680 353,600000
18 [3nuwuph Uhwgdwu hwugnyg P70 hwwn 38 2,892 109,896000
gjnin -6 0,000000
4-pn Ywngh puwhnnh dawynud thnunpuwlutpnud Epuywiduwinpny,
1 xtnilend i plasasubbh das @ 3,333 0,700 2,332890
2 |Uytnpn puwhnnhh nbqwithnfuncd Jhsle 1448 b 6,332 0,600 3,799278
3 |héh bwhiwzbnunh wwunpwunne h-15ud hwuwn. i 0,5145 11,000 5,659500
4 PEwnuE Yewnwihu hpdpbph wwwpwunnd B15 nuup phnnbhg, e 3.276 40,000 131,040000
hbGwuynclbph hwdwn
5 |Uupwl ®14A500C wndbpn wnl 0,016912 350,000 5,919200
6 |3huptph gnwutynuwgnud 2 26npwn phunnudh puncyny u? 5,040 0,700 3,528000
v Utitnwnwywl hEbwuntuuBph tmenwnpnud/ @108x3.5uUd L= —r 7 45,000 315,000000
7000uu/
8 Mwhnibwl dhnwnwlwi funnnywlhg ©@40x300 L=24 /puwpawly/ el 14 2 445 34.230000
Thuwn
9 |360wunibbph W wwhniuwyutph nunwlbnynud 2 p6pn §? 16,38 1,000 16,380000
10 |LED |nLuwinnilbph nbnwnpnud 604w hgnpnupjwdp hwn 7 46,000 322,000000
11 |[Ubunwnwywl dwwwytl F207 Ug 0,318 0,150 0,047712
12 |Ubnuwy NC 20 hwin 14,000 0,150 2,100000
13 |A1500 &ghs huwn 4,000 5,800 23,200000
14 |Ywfuhy CS 10.3 huwn 4,000 2,100 8,400000
15 |Ywhupg ES 1500E hwn 5,000 6,100 30,500000
16 CUN- 2x16UU2 hwunywapny dwintfuh wlgywgnud /dwwwysund/ qu 16,100 0,440 7,084000
hEUwujwl Uheny
Cun- 2x25Ud2 hwindwsdpny dwinthuh wughugnud
17 |, S qu 210,000 0,680 142,800000
18 |3nuwlph Jhwgdwl hwlgnyg P70 hwun 16 2,892 46,272000




oynwn -7 0,000000

4-pn Yungh plwhnnh dwynwd thnunpulubpned Epubiwywnpnd, 4,285 07 2 999430
1 | pwndtind whlipliwpwihbnh dnw o ‘ 0 :
2 [Uytinpn puwhnnhh nbnwihnfuncd Jhste 140 i 8,141 0,600 4,884786
3 |huéh Lwhuwztpinh wwinpuwunnd h-15ud hwuwn,  |§° 0,6615 11,000 7,276500
4 Phnnut Yewnwghu hhdptph wwinpwuwnned B15 nwup ptwninhg, 5 4212 40,000 168.480000

htGwuynibbph hwiwp
5 |UuUpwlu ®14A500C wndbpp il 0,021744 350,000 7,610400
6 [3hupbnh gnwubyniuwgnid 2 26w phuncdh puncyny g 6,480 0,700 4,536000
P Utinwnuiywl htbwunwiutph inknwnpnud/ ®108x3.5Ud L= s 9 45,000 405,000000

7000uUd/
8 "gn::uhur;l.ﬁwu dhtnwnwlwi funqnywyhg ©40x3040 L=20 /pwpdwly/ Qu 18 2,445 44,010000
9 [3tGwuynibph W wwhniuwlyubnh jnunuwutnynud 2 2tipn o 21,08 1,000 21,060000
10 |LED |nLuwiinniutnh inEnwnnnud 604 hanpnipjwdp hwin 9 46,000 414,000000
11 |Ubinwnuwl dwwwysl F207 ua 0,409 0,150 0,061344
12 |Ubnuwy NC 20 hwn 18,000 0,150 2,700000
13 |A1500 &ghs hwn 4,000 5,800 23,200000
14 |Ywhuhs CS 10.3 huwin 4,000 2,100 8,400000
15 |Ywpuhs ES 1500E hwn 7,000 6,100 42,700000

CHMN- 2x16UU2 hwwnywspny dwinthuh wugyuwgnul /dwwuysuny/
16 hebuwuwl Uhgny qu 20,700 0,440 9,108000

cun- 2x25Uu2 hwunywdpnt dwinthuh wuglwgnud
1 Iuutbnyonnd qu | 210,000 0,680 142,800000
18 |3nuwlph Uhwgdwl hwlgniyg P70 hwin 20 2,892 57,840000

CunwuJtup 11222,3142860

Cwhnyp 11% 1234,4545715

CunwuJtlup 12456,7688575

uu3 20% 2491,3537715

Cunwdtup 14948,1226290

mus4hrusnk LUMULUMNR
Uhuhwh hwdw)ip <<Ukunhuyjut Thi Untwnwd>> UNC
p- Uhuhwt, Uhuwljut 32 £. Gplaub, Nybkgn 31
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Cunferdud phy
« 25 » ognuwinu 2020. Yupywd
UUUL-CPUUTAR-20/2 Swdlwagpny wuwjdwlwgph

fuqup puwywduyph ppruwynpnipjwl hwdwhwpgbph punpujudwl Juwhww) w2uwnwupubph

Swywjwpetne-Lwhiwhw2hy
Uhwinph |COnwdkGp  /huwg
NN UzfuwnwbplGbph wGywlnudp $/0 owlwp wipdbipn A/
1 2 3 4 5 6
Pwjwp Jupswlywl puwlwdwph pruwgnpnupincu
gjnun -1
4-nn Ywpgh puwhnnh dawynud thnunpuwlubpnud Epuljwdwinpny, 333 0.7 2333100
! pwpéabiiny w/hupbwpewihbph ypw o' 3 e 3
2 |Udtinpn puwhnnhh nbnwihnfunud dhbsle 140 wnls 6,333 0,600 3,799620
3 |héh bwhiwzbpinh wuwwnpuwunnud h-15ud hwun, (i 0,5145 11,000 5,659500
4 PEwnnUb Yewnwht hhdpbph wwinpwunnwd B15 nwuh plinnbhg, i 3,276 40,000 131,040000
haGwuyntGbph hwdwp
5 |Uupwl ®14A500C wpdtpp il 0,016912 350,000 5,919200
6 |3hupbnh gnwublntuwgnd 2 26pwn phunnudh puntyny & 5,040 0,700 3,528000
; Ubtnwnwlwl hEbwuniiubph nibnwnpnud/ ©108x3.5UU L= e 7 45.000 315,000000
7000ud/
8 ;nrﬂ:mmu dbnwnwywi funnndwyhg ®@40x300 L=24 /pwnawly/ qu 14 2445 34,230000
9 [3k0wuyniGbph W wwhniuwyutph jnuqwtpyncd 2 26pn o 16,38 1,000 16,380000
10 |LED nuuwinniutiph nnbnwnpned 604 hgnpniejwdp hwn 7 46,000 322,000000
11 |Utnwnuywl dwuywdtl F207 g 0,318 0,150 0,047712
12 |Ubndwy NC 20 huwin 14,000 0,150 2,100000
13 |A1500 &ghs hwin 6,000 5,800 34,800000
14 |Ywhuhy CS 10.3 hwin 6,000 2,100 12,600000
15 |Ywiuhy ES 1500E hwwn 4,000 6,100 24,400000
c1n- 2x16Uu2 hwwnywspny Jwinchup wugywgnud /duwwuwdtlng/
b htuwujwl Uhgny qu 16,100 0,440 7,084000
cUn- 2x25uUU2 hwundwbdpny dwinthuh wiglugnud
17 Idwiwgwbling/onny qu 220,000 0,680 149,600000
18 |3nuwlph Uhwgdwl hwugnyg P70 hwn 16 2,892 46,272000
Bjnen -2 0,000000
4-pn Ywpgh puwhnnh dawynwd thnunpwutpaud Epulwiyuinpny,
1 puNAGiny WhbgbupwhEnh Unw u? 2,857 0,700 1,999620
2 |Udinpn puwhnnhh nbnwtnfunud dhtsle 1448 b 5428 0,600 3,256524
3 [hu6h UwhiwgBpinh wwnpwunned h-15ud hwuwn. §° 0,441 11,000 4,851000




4 |Fownnue YGUWNU NPURGNN WWINAWUNNLY 515 RWUp paNNupg, 5 2808 40,000 112,320000
hEGwuynObph hwdwnp
5 |Uupuwl ®14A500C wpdtpp nu 0,014496 350,000 5,073600
6 [3huptph gpwutyniuwgnd 2 2kpwn phuntdh puntyny u? 4,320 0,700 3,024000
7 Ubunwnwywl htbwunituubph tbnwnpnud/ ©108x3.5UU L= i 6 45,000 970.,000000
T000uUU/
8 MwhniGwy dnwnuwlywi funqnywlhg ©40x300 L=20 /pwpawly/ o 12 2.445 29.340000
Bhuwun
9 [36Gwujntibph W wwhntuwyutph jnunwubpynud 2 26pn ° 14,04 1,000 14,040000
10 |LED |nwuwinniutinh tnGnwnpnid 604w hgnpnipjudp hwn 6 46,000 276,000000
11 |Ubinwnuywl dwwwybu F207 Ug 0,273 0,150 0,040896
12 |UGnuwy NC 20 hwun 12,000 0,150 1,800000
13 |A1500 aghy hwin 4,000 5,800 23,200000
L
14 |Ywfuhy CS 10.3 hwwn 4,000 2,100 8,400000
15 |Ywhuhy ES 1500E hwin 4,000 6,100 24,400000
16 CcvnN- 2x16uUU2 hwundwspny dwinthuh wuglwgnud /dwujudBund/ a 13,800 0.440 6.072000
hELwuywl Uheny
CUN- 2x25UU2 hwinwspny dwinihuh wuglwgnud 0
17 Jdwuudbbinyonnd qu 150,000 0.680 102,00000
18 [3nuwlph Uhwguwl huwlgnig P70 hwen 14 2,892 40,488000
GjnLn -3 0,000000
4-pn Yupgh plwhnnh dwyned thnunpuyubpnud Epulwduinpnd,
1 owndbiny whbgbwewihbnh dnw e 2,857 0,700 1,999620
2 |Uytnpn puwhnnhh tibnwithntuncd Jhuste 146 inu 5,428 0,600 3,256524
3 |huéh Uwhiwgbnnh wuinpuunnud h-15ud hwun. 6 0,441 11,000 4,851000
" |Pbwnut Ysnwihu hhipbph wwnpwunnud B15 nwuh phunGhg, i
4 BE Gk ke g 2,808 40,000 112,320000
5 |Uupwl ©14A500C wndbpp nl 0,014496 350,000 5,073600
6 |3hugbnh gpwutlnLuwgniy 2 26pwn phuintuh guncyny u? 4,320 0,700 3,024000
E Ubtnwnuwywl hsbwuntilbph inbnwnpnud/ @108x3.5Ud L= — 6 45,000 270,000000
7000ud/
8 ;:zl:r;mmu dhnwnwlws funnnywyhg ®40x3040 L=20 /pwndwly/ qu 12 2,445 29,340000
9 |360wujnilbph W wwhnuwyubph jnuquliGnynud 2 26pn hg 14,04 1,000 14,040000
10 |LED |nLutuinniutph tnbnwnpned 604 hgnpnipjwlp hwin 6 46,000 276,000000
11 |Ubinwnwiwl dwwwytu F207 Ua 0,273 0,150 0,040896
12 |UbnuUwy NC 20 huwn 12,000 0,150 1,800000
13 |A1500 Aghy hwin 4,000 5,800 23,200000
14 |Ywups: CS 10.3 hwun 4,000 2,100 8,400000

~a ammAaAs




19 |HWuny ES 150UE nwin 4,00U b, 10U £4,4U0000
CHN- 2x16UU2 hwwnywspny dwinttuh wliglwgnud /dwwwsuny/

16
hbbu.;u;wh uheny qu 13.800 0,440 6,072000
Cun- 2x25UU2 hwnywdpny dwinuhuh wugluugnud

17 Idwywbung/onny qu 180,000 0,680 122,400000

18 [3nuwlph Uhwguwl hwugnyg P70 hwin 14 2,892 40,488000

gjnLn -4 0,000000

4-pn Ywngh puwhnnh Wwynwd thnunpuwyubepnud Epuljuwiguinpny,

1 pwnbbiny whbgbwpwhboh dnw i 4,285 0,700 2,999430

2 |Uytinpn puwhnnhh wbnuwihnfuncd Jhuste 1446 il 8,141 0,600 4,884786

3 |huéh bwhuwzBnunh wwunpwuwnnd h-15ud hwuwn. 83 0,6615 11,000 7,276500

4 PEwnnUE YEwnwihu hhdpbiph wwinpwuwnnid B45 nwuh phinnthg, & 4.212 40,000 168.480000
hGlwuynibph hwdwp

5 |Uupwu ®14A500C wndtipp il 0,021744 350,000 7,610400

6 |3huptiph gpwiUtyniuwgnid 2 26nwn phunnudh puncyny u? 6,480 0,700 4,536000

4 Ubinwnuwljwl hEuwunluubph nbnwnpnud/ ©108x3.5UU L= hwn 9 45,000 405,000000
7000uu/

8 ghu:::;mmu dbhnwnuwlwi funanwlhg ©@40x304 L=24 /pwpawly/ & 18 2,445 44,010000

9 [3bGwujniGbph L wwhniuwlUbph jnunwutpynud 2 2kpn 52 21,06 1,000 21,060000

10 |LED |nuwwnniubph inbnwnpnud 604w hgnpnupjwdp hwn 9 46,000 414,000000

11 |Ubnwnwlwl dwuwjwysl F207 Ua 0,409 0,150 0,061344

12 |UBnuwly NC 20 hwun 18,000 0,150 2,700000

13 |A1500 &ghy huwn 11,000 5,800 63,800000

14 [Ywfuhy CS 10.3 hwn 11,000 2,100 23,100000

'5 |Ywhuhy ES 1500E hwwn 4,000 6,100 24,400000

16 CUN- 2x16UU2 hwindwbpny dwinchuh wugywgnud /dwwwysund/ QU 20,700 0,440 9,108000
hbwuywl Uhpny
Chn- 2x25UU2 hwwinwbpny dwinchuh wlgywgnud

17 P qd 275,000 0,680 187,000000

18 [3nuwiliph Uhwguwl hwlignyg P70 huwtn 20 2,892 57,840000

GjnLn -5 0,000000

4-nn Yuwpgh puwhnnh wwynwd thnunpwyubpnud Epulywywnpny,

1 2,857 0,700 1,999620
puwnatiny w/huplwpwihtnh Unw v

2 |UdEinpn puwhnnhp wnbnwihnfunid Jhlsle 1438 wnl 5428 0,600 3,256524

3 |hu6h Lwhuwzbpunh wwunpwunnud h-15ud hwuun. §* 0,441 11,000 4,851000

4 PEwnUE YEinwghu hhdpbiph wwnpwuwnnid B15 qwuh phinnGhg, & 2808 40,000 112,320000
htlwuyniObph hwiwp

5 |Udpwl ©14A500C wpdbpp wnl 0,014496 350,000 5,073600

6 |3hupbph gpwutyniuwgnid 2 2kpwn phuinwh puncyny u? 4,320 0,700 3,024000

- Er_tzﬂuquumu hebwuntlubph nbnwnpnud/ ®108x3.5uUd L= s 6 45.000 270.000000




ruguuy
8 :hu::;mwu dhtnwnwywi funnnywyhg ©40x300 L=20 /punbwly/ al 12 2,445 29,340000
9 [36Gwunilbph W wwhntuwyubph jnuwbibpyncd 2 26pm g 14,04 1,000 14,040000
10 |LED ppLuwwinniutnh intnwnpntd 604w hgnpnwejudp hwtn 6 46,000 276,000000
11 |Ubunwnuwlwu dwwwytu F207 ug 0,273 0,150 0,040896
12 |Ubnuwly NC 20 hwin 12,000 0,150 1,800000
13 |A1500 aghy hwwn 4,000 5,800 23,200000
14 |Ywtupy CS 10.3 hwun 4,000 2,100 8,400000
15 |Ywtuhy ES 1500E hwwn 4,000 6,100 24,400000

cUnN- 2x16UU2 hwuindwbdpny Uwinthuh wlgywgned /dwuywydsund/
16 hUwuwl Uhgny qu 13,800 0,440 6,072000

Cun- 2x25uUu2 hwwndwbdpny dwinchuh wuglwgnud

L 17 JowguEuny/onny qu 170,000 0,680 115,600000

18 |[Rnuuwilph Uhwguwl huiignyg P70 hwin 14 2,892 40,488000

CunwuJtup 5377,57651200

Guwhnup 11% 591,53341632

Cunwdtup 5969,10992832

uu3 20% 1193,82198566

Cunwdtup 7162,93191398

musSdhrusnr yunuLunnk
Uhuhwith huduyiip <<Uytnpujub Th Untwnwd>> UNC
p- Uhupwh, Uhuwlwh 32 £, Bplwb, Nuikgn 31
22 Dph.uwfu. qopd. Juips. << Udkphwpwily >> OLC
2/2.900292101145 2/2.1570065096060100
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Zunduyiph bl puyul




Culbyfusé ppel 1
« 25 » ognuwinnu  2020. Yupwd
UUUL-LRUUTARP-20/2 dwdlwgnny wuwydwlwgph

Rwupy puwywywiph nuwynpnipywl hwdwlwnpgtph punwjudwl juwhwnw| wuwnwuplutph

Swywjwpbpp-Lwhiwhwohy
Uhwynph ClnwikGp
N G0 ] 0]
N UzhuwnwbpGbph waywinidp 5 Swyuwip wndbpn A
1 2 3 4 5 6
Ruwuhy Juppwlwl puwlywdwiph (nruwynpncpgnil
gjnLn -1
4-pn Yuingh puwhnnh Wwynud thnunpuyubpnud Epulwduwinpnd,
1 3,809 0,700 2,66616
puwnatiny w/huplwewihtph Unw v e
2 |Udtinpn plwhnnhh wibinwihnfuncd Uhtste 148 il 7.237 0,600 4,34203
3 |huéh Uwhuwzbpunh wwnpwunnud h-15ud hwuwn, | §® 0,588 11,000 6,46800
4 Rhnnbit Yewnwjhu hhiptph wwinpwunnud B15 quuh pininGhg, s 3,744 40,000 149,76000
hGlwunuibph hwiwp
5 |Udnwu ®14A500C wpdbpp wnl 0,019328 350,000 6,76480
6 [3hupbnh gpwutyniuwgnid 2 2t phinncuh puntyny u? 5,760 0,700 4,03200
B Ubinwnuwiwl hEuwuniubph tnbqwnpnud/ ®108x3.50d L= —— 8 45,000 360,00000
7000uuU/
8 Muwhnibwl shinwnwlwh funnnywlhg ©40x360 L=21 /pwipawly/ a 16 2.445 39,12000
8huwn
8 |360wunilbph L wwhnibwylbph jnuqwitbpynud 2 2bpn 2 18,72 1,000 18,72000
10 |LED inuwnniubph inbnwnpnud 604w hgnpnipjudp hwn 8 46,000 368,00000
11 JUGnwnwlwl dwwwytu F207 Ug 0,364 0,150 0,05453
12 |Ubnuwy NC 20 hwn 16,000 0,150 2,40000
13 |A1500 aghy hwtn 6,000 5,800 34,80000
14 1Ywfuhs CS 10.3 hwwn 6,000 2,100 12,60000
16 [Ywhuhs ES 1500E hwn 5,000 6,100 30,50000
16 CUN- 2x16UU2 hwwinydwspny dwinthuh wlghwgnid /dwwwytund/ QU 18.400 0.440 8,09600
hELwuwu Jheny
C1N- 2x25Uu2 hwunywépny dwinthuh wugywantd
17 IwwyEunyonny qu 210,000 0,680 142,80000
18 |Snuwlph Uhwguwl hwlgnyg P70 hwtn 18 2,892 52,05600
Gjnun -2 0,00000
4-pn Yungh pluwhnnh dwynid thnunpuyubpnud Epulwyuinpny,
1 e 0,952 0,700 0,66654
pwnatiny w/hplweuwihtnh Ynw
2 |Uytnpn plwhnnhh nbnwiinfuncd dhsle 144 wnu 1,809 0,600 1,08551
3 [huéh bwhuwzbnunh wwwnpwunnwd h-15ud hwuuw. g 0,147 11,000 1,61700
4 PEwnUE YewnwihU hhdpbiph wwinpwuinnud B15 nuwuh pnnGhg, e 0,936 40,000 37.44000
htlwuyniObph hwdwp
5 IUdnwl ®14A500C wndtpn wnu 0.004832 350,000 1,69120




6 |3hupbph gpwublyniuwgnud 2 26pwn phunwh puncyny o 1,440 0,700 1,00800

7 Ubinwnwlwb htbwynlubtph wnbnwnpnw/ ©108x3.5UU L= - 2 45.000 90.00000
7000Ud/

8 Mwhnuiwl dEnwnwlwh funnnywlhg @40x304 L=20 /pwnpwly/ a 4 2.445 9,78000
Zhwin

9 [36OwuynLGbph W wywhniuwlyuknph jnunwutnynud 2 2bipn ° 4,68 1,000 4,68000

10 |LED |nLuwwnniubnh nbnwnpnud 604un hanpnipjwidp hun 2 46,000 92,00000

11 |Ubunwnulwl dwwwltl F207 bg 0,091 0,150 0,01363

12 |UBnuwy NC 20 hwn 4,000 0,150 0,60000

13 |A1500 &ghy hwin 4,000 5,800 23,20000

14 |Ywfuhs CS 10.3 hwwn 4,000 2,100 8,40000

15 CuN- 2x16UU2 hwindwdpny dwinthuh wlglwgnid /dwuywytlng/ af 4,600 0.440 2.02400
hEUwujwl dhpny
CUn- 2x25uUU2 hwnywspny dwinchuh wugywgnud

16 Jdungunonnd qu 60,000 0,680 40,80000

17 [Anuwlph Uhwgdwl hwlgnyg P70 hwin 6 2,892 17,35200

gjnin -3 0,00000

4-pn, ywpgh plwhnnh dwynid thnunpuyupnud Epuljwiwnpny,

1 puinabing uhisgbuspuhbnh o o 6,665 0,700 4,66578

2 |Udtinpn pbwhnnhh nbnwihnfuncd dhugle 144 (Fgl¥] 12,664 0,600 7,59856

3 [uéh Lwhuwzbpnh wwwnpwunn h-15ud hwuwn. i 1,029 11,000 11,31900

4 PEwnnut Yewnwihu hhdpbph wwinpwuwnnid B15 nuuh phunnihg, & 6,552 40,000 262,08000
htlwujnlibph hwdwp

5 |Udpwl ©14A500C wpdtpp nu 0,033824 350,000 11,83840

6 [3hdptph gnwdblyniuwgnud 2 26pwn phuinuwh pundyny u? 10,080 0,700 7,05600

7 Utinwnuwywl hEuwuniuubph nbnwnpnud/ ©@108x3.5U0U L= - 14 45,000 630,00000
7000uUU/

8 Mwhnilwly dEnwnwlyw funnndwiyhg ©40x300 L=24 /pupbwly/ a4 28 2.445 68.46000
14hwuwn

9 [Rblwunilbph W wwhniuwubph jnuqwtplynud 2 26pn o 32,76 1,000 32,76000

10 |LED |nLuwwnncubnh inbnwinpnud 604n hgnpnipjwdp hwn 14 46,000 644,00000

11 |UGunwnwlywl dwwwydbl F207 Lg 0,636 0,150 0,09542

12 |Ubnuwl NC 20 hwwn 28,000 0,150 4,20000

13 |A1500 aghy hwn 6,000 5,800 34,80000

14 |Ywfuhs CS 10.3 hwin 6,000 2,100 12,60000

15 |Ywfpuhy ES 1500E hwuwn 11,000 6,100 67,10000

16 C1N- 2x16uu2 hwwnywdpny dwinthuh wughuwgnud /duwwwytuny/ U 32.200 0,440 14,16800
hELwujwu Uhgny

17 CWN- 2x25Uu2 hwuinywdpny dwinchuh wuglugnud " 410,000 0.680 278,80000

Jdwwwltund/onnu




18 |3nuwlph Uhwgudwl hwugnug P70 hwin 30 2,892 86,76000
GjnLn -4 0,00000

4-nn Ywpgh puwhnnh dawynud thnunpuyubnpnud Epuljwidwiinnpny,

1 5713 0,700 3.99924
punatiny w/huplwpluthtnh ypw o

2 |UyGinpn puwhnnhp nbqwihnfuncd dhugle 144 nl 10,855 0,600 6,51305

3 |hu6h bwhuwbpunh wwwnpuwunned h-15ud hwuwn, o 0,882 11,000 9,70200

4 PEwnNUE Yewnwyhu hhdpkph wwwnpwuwnnd B15 nwuh pbunnlhg, 8 5616 40,000 22464000
hGGwuynobph hwdwp

5 [Udpwl ©14A500C wndtpp il 0,028992 350,000 10,14720

6 |3hdpbnh gnwdtynwuwgnud 2 26pun phuinwh puntyny U2 8,640 0,700 6,04800

B Ubinwnuwiwl htbwuntbuGnh nGnwnpnud/ @108x3.5UuU L= huitn 12 45,000 540,00000
7000uu/

8 MuwhntOwl Ghnwnwywh funnniwyhg ®40x3040 L=24 /puunauly/ au 24 2 445 58 68000
12hwn

9 |3t0wunilbph W wwhntbwlubnh jnunwGpynud 2 26pn 6 28,08 1,000 28,08000

10 |LED (nwuwwnniutph inenwnpnwd 604 hgnpniejwdp hwin 12 46,000 552,00000

11 |Ubuinwnuywl dwwwytu F207 Ug 0,545 0,150 0,08179

12 |UbnJwly NC 20 hwn 24,000 0,150 3,60000

13 |A1500 aghy huwn 6,000 5,800 34,80000

14 |Ywpupy CS 10.3 hwin 6,000 2,100 12,60000

15 |Ywpuhs ES 1500E hwin 9,000 6,100 54,90000

16 cun- 2x16Ud2 hwunywspny Jwinchuh wugywgnud /dwwwdslnd/ qu 27.600 0,440 12.14400
hEuwujwu dheny

17 CUN- 2x25Ud2 hwuinydwdpny Jwintfuh wgywgnd U 340,000 0.680 231,20000
[dwwwytund/onny

18 [3nuwlph vhwguwl hwugnyg P70 hwn 28 2,892 80,97600
CunwuJtup 5623,9498400
Cwhnyp 11% 618,6344824
CunwdJtlup 6242,5843224
uu3 20% 1248,5168645
CunwdJtup 7491,1011869

musdhrusnk yunuLunnk
Uhuhwth hwiw)up <<Utwnhuyjmt Thu Untwnwd>> UNC
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Swbpws ph 1

« 25 » ognuwnnu 2020. Yupdwd
UUUL-<KRUUSAR-20/2 swéliwgnny wwydwlwgph

P2luwlwuwp plwlwduwyph (nuwdnpnupjwl hwdwlwpgbph punpujbdwl Yuwhuow)

w2fuwwnwlplbph
Swywjwptne-Lwhiwhw2hy
NN UpfuwinwhpGinh whdwnudp s | dwdwyp Uﬂ{:-;g;nﬂh DE”‘”“:{?EJ o e
1 2 3 4 5 6
P2luwlwuwp Juppuwlwl puwlwdwyph pruwynpncpgncu
Gynwn -1

1 gﬁgalél::\m ﬁlﬁ:&:ghw l{ﬁ;ur:lhni LLSnur:nuJum:nnLu Epulwdwiinpny, & 4,285 0,700 2999430
2 |UdGinnn plwhnnhh nbnwihnfunud dhlsle 144 ] 8,141 0,600 4,884786
3 |hu6h bwhuwzbnunh wwinpuwunned h-15ud hwuwn, i 06615 11,000 7,276500
4 s:ﬁmwnl:::LLE{E;nhLu':mJﬁwhEuphph wuwinpwuwnnid B15 nuup phnnbhg, & 4.212 40,000 168.480000
5 |UUpwl ®14A500C wpdbpp wnlu 0,021744 350,000 7,610400
6 |3huptph gnwutynwuwgnud 2 26nwn phunudh puncyny 2 6,480 0,700 4,536000
7 'L{ICIIJOL?)L:LII}LULIU.III hEUwunLuLBPh nbnwnnpnwd/ ®108x3.5UU L= hustn 9 45,000 405,000000
8 ;}:ﬂ:wwu GEnwnwhwh funnnywlhg @40x300 L=24 /pwpawly/ a 18 2.445 44,010000
9 |3G0wuynibbiph L wwhnuwlubph jnuqwbnynud 2 26pm 02 21,06 1,000 21,060000
10 |LED |nLuwwnniutinh ibnwnpnud 604wn hgnpniejwdp hwin 9 46,000 414,000000
11 |Ubtinwnwlwl dwwwytlu F207 Ug 0,409 0,150 0,061344
12 |UBnuwly NC 20 hwtn 18,000 0,150 2,700000
13 |A1500 &ghy hwin 6,000 5,800 34,800000
14 |Ywfupy CS 10.3 hwin 6,000 2,100 12,600000
15 [Ywfuhs ES 1500E hwin 6,000 6,100 36,600000
16 ::ll;lwirll idjhi::mqwagnq dwinchuh wughwgned /dwuywdsund/ o 20,700 0,440 9,108000
17 fﬁ;ﬂiﬁggﬁ&uﬁwwnu uwinifuh wigywgnuy qu | 300,000 0,680 204,000000




18 |3nuwlph Uhwguuit hwlgnyg P70 hwn 20 2,892 57,840000

5jnLn -2 0,000000
1 :wn:b%ﬁﬁ zﬁwﬁurl?m‘g:nu;% l-th-lmur-.nu.luhl:nnl.t.l Epulwdwinpnd, & 4.285 0,700 2.999430
2 |Uytinpn puwhnnhh nbnwiinfunud Uhtgle 148 wnl 8,141 0,600 4,884786
3 |hh bwhiw2Bninh wwinpwunnud h-15ul hwuw, |8 0,6615 11,000 7,276500
4 fé:ﬁ:::é?:hw;rrﬁ:ﬁdpbnh wwnpwuwnnid B15 nwuh phwnnbhg, & 4212 40.000 168,480000
5 |Uupwl ®14A500C wndtipn il 0,021744 350,000 7,610400
6 |3hupbph gnwublnuwgnid 2 26pwn phunwdh puncyny U 6,480 0,700 4,536000
7 Egagt:&}wuwu htUwuynLluGph wBnwnpnud/ ®@108x3.5Ud L= i 9 45,000 405,000000
8 ;!hu;:t:-ll.ﬁwu shnwnwlwi funnndulhg @40x300 L=20 /pwnawly/ qu 18 2,445 44,010000
9 |36Gwunilph W wwhntuwyubph jnunwltnynud 2 26pm §° 21,06 1,000 21,060000
10 |LED jnuwwnniutph nbnwnpnid 604 hgnpnipjudp hwwn 9 46,000 414,000000
11 |Ubnwnuwywl dwwwytlu F207 Ug 0,409 0,150 0,061344
12 |Utndwl NC 20 huwin 18,000 0,150 2,700000
13 |A1500 aghy hwun 6,000 5,800 34,800000
14 [Ywtuhs CS 10.3 huwiwn 6,000 2,100 12,600000
15 |Ywfuhs ES 1500E hwun 6,000 6,100 36,600000
16 E:S;uiﬂiuﬁg:ﬁmz{wbpnq dwinthuh wughuwgnid /dwwwysund/ U 20,700 0,440 9,108000
17 f;:ﬂ;ﬁ‘i:grﬁ::‘nﬂ“mm”“ danduh uhgtmgnul au | 280,000 0,680 190,400000
18 |3nuwlph Uhwguwl hwlgnyg P70 hwin 20 2,892 57,840000

GjnLn -3 0,000000
1 :LL‘:;‘:‘T& ;‘;‘:ﬁ;ﬁﬁ;‘;‘;imnmmwt’mw Foubuigunnny, | 3 | 4,285 0,700 2,999430
2 |Udsinpn puwhnnhh wnbnwinfunud dhlsle 1448 wnu 8,141 0,600 4884786




3 |éh Lwhiwztnnh wwinpuunnud h-15ud hwuw, |6 0,6615 11,000 7,276500

4 Phnnut Yewnwht hhdptiph wwinpwutnnud B16 nwuh pininlhg, & 4212 40,000 168,480000
htGuwujniieph hwdwp

5 |Uupwl ®14A500C wndtipp wnu 0,021744 350,000 7,610400

6 [3hupbnh gnwutyniuwgned 2 2bpn phunnwh puntyny g 6,480 0,700 4,536000

7 Ubinwnwljwl htbwuyntuubph wnenwnpnud/ ®108x3.5uUd L= Niia 9 45,000 405,000000
7000uu/

8 Mwhntbwl dEnwnwywh funnndwyhg @40x300 L=24 /pwpawly/ qu 18 2.445 44.010000
Shwwn

9 [3tGwujniGtph W wwhniuwyutph jnuqwutpyned 2 26pn 2 21,06 1,000 21,060000

10 |LED jnLuwwnniutph nbnwnpnud 604 hagnpnipjudp huwn g 46,000 414,000000

11 |Ubinwnwywl dwwwytu F207 ug 0,409 0,150 0,061344

12 |Utbnuwy NC 20 hwn 18,000 0,150 2,700000

13 |A1500 aghy huwn 6,000 5,800 34,800000

14 |Ywhuhy CS 10.3 huin 6,000 2,100 12,600000

15 |Ywhups ES 1500E hwin 6,000 6,100 36,600000
cun- 2x16UU2 hwindwdpny Uwintuh wuglwgned /dwwwytund/

16 heUwuywl Uhpny qu 20,700 0,440 9,108000

17 cun- 2x25uUu2 hwwnywbspny dwinthuh wliglwgnud " 265.000 0,680 180200000
Jdwwwysund/onny

18 |3nuwlph Uhwguwu hwugnyg P70 hwn 20 2,892 57,840000

Gynin 4 0,000000

4-pn Ywpgh pLwhnnh dzwyned thnunpwyubpnud Epulwdwinnny,

1 1,904 ,700 1,333080
punatiny w/hbglwewhtnh Upw # .

2 |Udtinpn puwhnnhh wbnwdinfunud Uhbsle 146 nlu 3618 0,600 2,171016

3 |h6h bwhuwzbpunh wwnpwunnd h-15ul hwuw. g3 0,294 11,000 3,234000
PEwnnUL Ysinwihu hhdpbph wwinpwuwnnwd B156 nwuh pGuinbhg, 3

4 sGwuyne bl hedkasn i} 1,872 40,000 74,880000

5 |Udpwl ®14A500C wpdbpp i 0,009664 350,000 3,382400

6 |3hdptnh gnwubyniuwgnud 2 26w phuinwdh puncyny g 2,880 0,700 2,016000
Uk U 0} ; =

- “Mhrll.ulzl.u hEUwuntuubph nbnwnnnud/ ®108x3.5UU L e 4 45.000 180,000000




ruuuuy

TNwhntlwl Shnwnwlws lunnndwyhg ®40x30d L=20 /pwnawly/

8 Wi gqu 8 2,445 19,560000
9 [3bGwunibbph W wwhntuwyubph jnunuiispyncd 2 2tpn W 9,36 1,000 9,360000
10 |LED [nLuwwnniubph wnknwnpned 604w hanpniejwdp hwin 4 46,000 184,000000
11 [Ubunwnuiwl dwwjwlsu F207 lug 0,182 0,150 0,027264
12 |UGBnuwy NC 20 hwin 8,000 0,150 1,200000
13 |A1500 aghy hwun 4,000 5,800 23,200000
14 |Ywhuhy CS 10.3 hwwn 4,000 2,100 8,400000
15 |Ywfups ES 1500E huwtn 2,000 6,100 12,200000
16 EESlLiTJJiU&ZQ::JmeUQnL{ dwinihuh wlgyuwgnud /duwwyuwdsund/ au 9,200 0.440 4,048000
17 f:gﬁis;ﬁ:n”;ﬂqwm"q i b au | 120,000 0,680 81,600000
18 |3nuwlph Uhwgdwl hwugnig P70 huwin 24 2,892 69,408000

Bynun -5 0,000000
1 zﬂm‘;&qﬂ ﬁg‘lﬂ‘wﬁ;ﬂmu‘t‘"””'“‘””“h““m Foubguunnny, | s | 4 428 0,700 0,999600
2 |uytinpn plwhnnhh iknwthntund uhlsle 148 nl 2,713 0,600 1,627920
3 |huéh Lwhuwzbpunh wwinpwunned h-15ud hwun. i 0,2205 11,000 2,425500
4 :é:;:un::él;:hwdtragzﬁphnh wwwnpwuwnned B15 nwuh phnnihg, § 1.404 40,000 56.160000
5 [Udpwl ®14A500C wndtpn (1y10] 0,007248 350,000 2,536800
6 |3huptph gpwutyniuwgnid 2 26pun phuinudh puncyny g 2,160 0,700 1,512000
v ?U;[;gt&ﬂ}wuum htUwuniuutph wnbnwnpnu/ ®108x3.5uUd L= - 3 45,000 135,000000
8 ;‘Iﬁ;ﬂwk tbnwnuwlwi funnnywlhg ®@40x300 L=20 /pwnawly/ o 6 2445 14,670000
9 |360wuyniGlph W wwhnuwbubph jnuwlGpynud 2 26pn §? 7,02 1,000 7,020000
10 [LED jntuwnniubph tnbnwnpnwd 604w hgnpnupjuwdp hwin 3 46,000 138,000000
11 |UGlnwnuwywl dwwwytu F207 Ug 0,136 0,150 0,020448




12 |Ubnuwy NC 20 hwuwn 6,000 0,150 0,900000
13 |A1500 aghg hwn 4,000 5,800 23,200000
14 1Ywfuhs CS 10.3 huwn 4,000 2,100 8,400000
15 |Ywtuhs ES 1500E hwwn 1,000 6,100 6,100000
16 ﬁ;‘lnl:uiil gugﬁg:ﬁmqwcpnq dwinihuh wugluwgnud /dwwwiytuny/ a 6,900 0,440 3,036000
17 fﬂ;qﬁ:ﬁ:i;‘mqw“"” i whglugnul qu | 90,000 0,680 61,200000
18 |3nuwlph Uhwguwl huwlignyg P70 hwn 8 2,892 23,136000

Bjnin -6 0,000000
1 :;Tr?at:iﬂqlz ;ﬁlﬂ:ﬁmﬁ:ﬂuﬁm l':fjmunru.uul.n:nmu Epulwiduitnpny, £ 3,333 0,700 2.332890
2 |Uytnpn puwhnnhh nbnwiginfuncd dhlste 140 il 6,332 0,600 3,799278
3 |huh bwhuwabpnh wwinpwunnd h-15ud hwuw, |5 0,5145 11,000 5,659500
4 Egg?unizlggt:l:ugrﬂdzr‘nphnh wwinpwuinnid B15 quiuh phwnnGhg, & 3,276 40,000 131,040000
5 |Udnwl ©14A500C wndtipp il 0,016812 350,000 5,919200
6 [Shuptnh gnwutynLuwgnid 2 2Epun phunwh puncyny u? 5,040 0,700 3,528000
, %:{;gt&.l&}muwh hUwuynilbph nbnwnpnu/ ©108x3.50d L= - 5 45,000 315,000000
8 ;’lhudﬂl.ﬁl.uu Ubtnwnwws unnnwlhg ®40x360 L=20 /puipduwly/ qu 14 2445 34,230000
9 [Glwujniitiph L wwhniuwyutph jneqwutpynud 2 2kpn o 16,38 1,000 16,380000
10 |LED |nLuwwnniubph wbnwnpnud 604un hgnpnupjudp hwin 7 46,000 322,000000
11 |Ubnwnuwlwl dwwwytu F207 Ug 0,318 0,150 0,047712
12 |Ubnuwy NC 20 hwun 14,000 0,150 2,100000
13 |A1500 &ghy hwn 6,000 5,800 34,800000
14 [Ywhuhs CS 10.3 hwin 6,000 2,100 12,600000
16 [Ywtuhs ES 1500E huwn 5,000 6,100 30,500000

CUN- 2x16UU2 hwndwbdond dwinthuh wuabiwantd /dwwwdsund/




16 ﬁtuwﬁlmﬁ_dﬁgni'-'--‘-‘l-h e ey s s ST e eSS qu 16,100 0,440 7,084000
17 fﬁ;ﬁﬁﬂrﬁgﬁnﬂ“‘”m vl whigUuigaut au | 210,000 0,680 142,800000
18 [3nuwiligh Uhwguwl hwlgnyg P70 hwn 16 2,892 46,272000
gjnLn -7 0,000000

1 :LEQ;&::.TE ;lij;;ll:lr:l;hw LE:#;LL; E:nunm.uuwannl.d Epulwijwinpny, & 4.285 0.700 2999430

2 |Udtinpn puwhnnhh nbnwihnfuncd uhusle 140 il 8,141 0,600 4,884786

3 [hu6h UwhiwgGnunh wuwnpuunnd h-15ud hwuwn, i 0,6615 11,000 7,276500

4 f:ﬁiigﬁ:hwd?mﬂﬁmhnh wwinpwuwnnid B15 nwuh ptwnnbhg, & 4212 40,000 168,480000

5 |UWupwl ®14A500C wpdtpp unu 0,021744 350,000 7,610400

6 |3huptph gpwutyniuwgned 2 2tpwn phuinnudh puntyny u? 6,480 0,700 4,536000

4 ‘_}Igﬂtgﬁjjwuwu hEUwunlltnh tnbnwnpnul/ ®108x3.5Ud L= - 9 45.000 405,000000

8 grﬂglﬁwu dtnwnwyw funnndwlhg @40x3060 L=24 /pwnawly/ aul 18 2,445 44,010000

9 [36GwuntGbph W wwhnuwyutph jnunwipynud 2 26pn iy 21,06 1,000 21,060000

10 |LED pnwwwnniltiph nbnwnpnud 604in hgnpniejwudp hwwn 9 46,000 414,000000
11 |Usinwnuiwl dwwwybu F207 ug 0,409 0,150 0,061344
12 |UGnuwy NC 20 hwn 18,000 0,150 2,700000
13 |A1500 aghs hwn 4,000 5,800 23,200000
14 |Ywfuhy CS 10.3 huwin 4,000 2,100 8,400000
15 |Ywpuhy ES 1500E hwn 7,000 6,100 42,700000
16 EES;U?;E gu;hzg:ﬁmebgnL{ dwnihuh wbiglugnid /dwwuidBund/ Qu 20,700 0.440 9,108000
17 f;&fﬁg;ﬁg;ﬂq‘“”“q v whighugnul qu | 250,000 0,680 170,000000
18 |3nuwlph Uhwgdwl hwugnyg P70 hwin 20 2,892 57,840000
Gjnun -8 0,000000

1 4-pn Ywpgh pwhnnh dawynud thnunpububnnud Epulwidwnpny, £ 2,857 0,700 1.999620

pwnabiny w/hlpbwpwthtph Ypw




2 |Uytinpn puwhnnhh nbnwthnfuned Jhsle 148 wnl 5,428 0,600 3,256524
3 [hu6h bwhuw2tnunh wwwnpwunnid h-15ud hwuwn,  |g? 0,441 11,000 4,851000
4 hn:;‘\un;:f&t;\;r;&ud:l;dgbnh wwinpwuinnid B15 nwuh phinnbhg, & 2,808 40,000 112.320000
5 |UWdnwl ©14A500C wpdtpp b 0,014496 350,000 5,073600
6 |3hupbnh gnwutyniuwgnud 2 26pwn phuncdh puncyny u? 4,320 0,700 3,024000
B ;ISEOL?)L:J}LUULUU hELuwunLtuubph wnEnwnpnu/ ®108x3.5uUd L= s 6 45,000 270000000
8 ;nﬁl-:mwu GEnwnwywi funnnywlhg ©40x300 L=24 /pwpawly/ au 12 2.445 29,340000
9 [360wunbbph W wwhntuwyutnh jnuwlibpynud 2 26pn i 14,04 1,000 14,040000
10 |LED jnuwwinntuGph inbnwnpnwd 604t hgnpnipejwidp huwin 6 46,000 276,000000
11 |UGunwnuwlwl dwwwytu F207 Ug 0,273 0,150 0,040896
12 |Ubnuwy NC 20 hwun 12,000 0,150 1,800000
13 |A1500 aghy hwn 4,000 5,800 23,200000
14 [Ywfuhs CS 10.3 hwwn 4,000 2,100 8,400000
15 [Ywfuhy ES 1500E hwwn 4,000 6,100 24,400000
16 ;:E&jifigughzg:ﬁmebpnq dUwinchuh wlgywgnud /dwwwybuny/ - 13.800 0,440 6.072000
17 f:j;qﬁgdﬁ:;”ﬂﬂ“m‘m S wligliugnud au | 180,000 0,680 122,400000
18 |3nuwlph Uhwguwl hwlgniyg P70 huwn 14 2,892 40,488000

§jnwn -9 0,000000
1 :;L'nrr:hlét::]m ﬁts‘m?wﬁ::ﬁi Llﬂnunpwlmtnnl.u Epulwiwinpny, £ 2,857 0.700 1.999620
2 |UdEinpn puwhnnhp inBnwipnfuncd dhbste 140 i 5,428 0,600 3,256524
3 |h6h bwhiwztpnh wwwnpwuwnnd h-15ud hwuwn. §° 0,441 11,000 4,851000
B (mnerbon aininge e e il 2,808 40,000 112,320000
5 |Udpwl ®14A500C wndtpn wnu 0,014496 350,000 5,073600




6 [3huptnh gpwubyniuwgnid 2 26nwn phnnwdh puntyny u? 4,320 0,700 3,024000
- Ubitnwnwwl hEbwuniiutph wnbnwnpnud/ ®108x3.5Ud L= _— 6 45.000 270.000000
7000ud/

8 ;:::TL:Lﬁmu dEnwnwlwh funnnywlhg ®40x304 L=20 /pwndwly/ o 12 2.445 29,340000
9 |Ft0wunilbph L wwhnbwlUbph jnuqwlbpynud 2 2bpn i 14,04 1,000 14,040000
10 |LED |nLuwwnniubnh nbnwnpnid 604w hgnpnipjwdp hwn 6 46,000 276,000000
11 |Ubnwnwiwl dwujuwsl F207 g 0,273 0,150 0,040896
12 [Ubnuwy NC 20 hwtn 12,000 0,150 1,800000
13 |A1500 &ghy hwn 4,000 5,800 23,200000
14 Ywfuhy CS 10.3 hwn 4,000 2,100 8,400000
15 [Ywfuhs ES 1500E hwn 4,000 6,100 24,400000
16 E:{I;uﬁ:(;gdﬁg:ﬁQObgnq dwinihuh wughwgnud /dwwjuwdbuny/ QU 13,800 0,440 6,072000
17 fﬁ@i‘i&fﬁﬁmﬂmmq ivh whglngnul qu | 180,000 0,680 122,400000
18 [3nuwlph Uhwgdwl hwlgnyg P70 hwwn 14 2,892 40,488000

gjnin -10 0,000000
1 gxgaléﬁaq&?]t;ﬂ:hwﬁ?#;ai lLﬂnu1"|nl.l.,tuhl:nr'u.u Epuljuwuwiinpny, & 2.857 0,700 1,999620
2 |WdGinpn puwhnnph nbnwihnfuncd dhbste 140 nu 5428 0,600 3,256524
3 |éh Lwhuwzbnunh wwnpwuwnnwd h-15ud hwuwn, Ol 0,441 11,000 4,851000
4 hﬂ:ﬁTl}::LléEl:hw;ﬁi‘j:E{mbnh wwinpwunntd B15 nwuh pbwnnbhg, 5 2 808 40,000 112,320000
5 |Uunwlu ©14A500C wndtpp tnl 0,014496 350,000 5,073600
6 |3huptnh gpwutyniuwgnid 2 2tpwn phunnwdh puncyny u? 4,320 0,700 3,024000
7 ;L’Joh(;'l;;}wuwu hEbwuyntuubph nbnwnpnud/ ©108x3.5UU L= — 6 45,000 270.000000
8 'ﬁnhu:uhur;m;uu dEinwnulywi funnnywlhg @40x300 L=24 /pwnawly/ a 12 2.445 29,340000
9 [360wuynilbph b wwhnwlutph jnuqwutpynud 2 6pn g 14,04 1,000 14,040000
10 ILED jnuwwniniuph nbnwinpnud 604w hgnpnupjwdp hwin 6 46,000 276,000000




p. Uhuhwl, Uhuwljwb 32
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70065096060100

:'.46;3'43“?* \‘“‘?i”gc' f
?;;"ng a3 0%
g0 WY A
200 Armasa s

11 |Ubunwnuwiwl dwwwytu F207 Ug 0,273 0,150 0,040896
12 [Ubnuwy NC 20 hwn 12,000 0,150 1,800000
13 |A1500 &ghy hwun 4,000 5,800 23,200000
14 [Ywpuhs CS 10.3 hwwn 4,000 2,100 8,400000
15 |Ywtuhy ES 1500E hwtn 4,000 6,100 24,400000
CuUN- 2x16uUd2 hwundwopny dwinchup wughwgnud /dwwwdsund/
16 hbbwuwl Uheny qu 13,800 0,440 6,072000
CUN- 2x25UU2 hwundwdpny dwinctuh wugywgnid
17 Jdwwtuny/onn qu 200,000 0,680 136,000000
“ 18 |3nuwbiph uhwguwl hwlignyg P70 huwn 14 2,802 40,488000
CunwuJtup 10804,939368
Cwhnyp 11% 1188,543330
CunwdJtup 11993,482698
uu3 20% 2398,696540
Cunwdtlup 14392,179238
MUS4Yhrusnr LuMULUNNk
Uhuhwth hwdwjip <<Ujtwnhujwi Thit Untunwd>> UNC




Swilyuws phy 1

« 25 » ognuwnnu  2020. Yupywd
UUUL-CRUUTAR-20/2 dwdywapny wwdwuwagph

Cwnuwuw puwhwywjph (nruwynpnipjwl hwdwlwpgbph punuwudwl uwhwnw) w2huiwnwupltph

Swywwptpr-Lwiwhwhy

Uhwnph COnwikbp
NN Ufuwnwlplbph whdwhnudp $0 | dwwip wndtipn Ihwg npwd/
1 2 3 < 5 6
Cwnwwun Jupawywl plwywywiph (nLuwynpnupini
Gjnin -1
4-pn Ywngh plwhnnh wynwd thnunpwyutpnud Epulwidwinnnny,
1 71 ; . 4
il uatiebaonxiinh e Ty 5713 0,700 3,999240
2 [Udtinpn puwhnnhh nbGnwinfuncd Untsle 140 wnl 10,855 0,600 6,513048
3 [héh bwhuwtnpnh wwunpwunnwd h-15ud hwun, i 0,882 11,000 9,702000
4 PEuiNUE Yewnwht hhdpbinh wwnpwuwnnid B15 nwuh phinGhg, o 5616 40,000 224640000
hGlwuynObph hwdwp
5 |Udpwl ®14A500C wpdbpp wb | 0,028992 350,000 10,147200
6 |3huptiph gpuwidtlnLuwgnud 2 26nwn phuncdh puncyny u? 8,640 0,700 6,048000
7 |Utnwnulwl htbwuntulbph inbnwnpnud/ @108x3.5u0U L= 7000ud/ hwitn 12 45,000 540,000000
8 ;ﬂzu;hmﬁwu tbEnwnwlwh funnnywlhg ©40x300 L=20 /pwnéawly/ o 24 2445 58,680000
wn
9 Atlwuymbbph W wywhnuwyubph jnuqwlibpynud 2 ztipn §° 28,08 1,000 28,080000
10 |LED |nuwwnniubnh ibnwnpnud 604wn hgnpniejwdp hwtn 12 46,000 552,000000
11 |Ubnwnwlwl dwwwytu F207 lg 0,545 0,150 0,081792
12 |Ubnuwy NC 20 huwn | 24,000 0,150 3,600000
13 |A1500 aghy huwin 6,000 5,800 34,800000
14 |Ywfuhy CS 10.3 hww | 6,000 2,100 12,600000
15 |Ywhuhs ES 1500E hwin 9,000 6,100 54,900000
16 CUN- 2x16UU2 hwinywbdpny Jwinthuh wuglwgnid /dwuywdtund/ ail 27,600 0.440 12,144000
htlwuywu Uhgny
17 1Cun- 2x25Uu2 hwundwbpny dwinuhuh wlghwgned /dwwwdtund/onnd |  qu 350,000 0,680 238,000000
18 [3nuwligh vhwgdwl hwlugnyg P70 hwn 26 2,892 75,192000
GjnLn -2 0,000000
4-pn Ywngh puwhnnh dawynwd thnunpuwubpned Epuljuwidusinpny,
1 1,904 0,7 1,333080
pwnatiny w/hlplwpwihtph ypw v %
2 |UdGinpn puwhnnhh inbnwihnfuncd dhbske 1408 il 3,618 0,600 2,171016
3 |huéh bwhiwgbnunh wwunpwunnud h-15ud hwuuwn. §° 0,294 11,000 3,234000




4 ﬁé:ﬂ\hﬁlléiu:#dﬁu:t;dghnh wwinpwunntd B15 nwuh pkinnbhg, i 1872 40,000 74,880000
5 |Wupwl ©@14A500C wndtpp nu | 0,009664 350,000 3,382400
6 |3hupbnh gnwutyniuwgnid 2 26nn phinncdh puntyny w2 2,880 0,700 2,016000
7 |Ubtnwnwywl hEuwunwuutph wnknunnnud/ ®108x3.5uUd L= 7000Ud/ huwin 4 45,000 180,000000
8 :‘lﬁgumu ghnwnwywi funnnwyhg ®40x300 L=24 /pwpawly/ au 8 2.445 19,560000
9 [3GGwunilbph W wwhnwyutph jnunwbitpyned 2 26pn i 9,36 1,000 9,360000
10 |LED nuwwnniutph nbnwapnud 604wn hgnpniejwdp hwn 4 46,000 184,000000
11 |Ubinwnwywl dwwjuwytu F207 g 0,182 0,150 0,027264
12 |UGndwy NC 20 hwun 8,000 0,150 1,200000
13 |A1500 &ghs hwn 4,000 5,800 23,200000
14 |Ywhuhs CS 10.3 hww | 4,000 2,100 8,400000
15 |Uwfuhs ES 1500E hwun 2,000 6,100 12,200000
16 E:ﬂ;ﬁﬂ iuﬁg:tllummubpnq Uwinchuh wugyugnud /dwwudsund/ aul 9,200 0.440 4.048000
17 |cun- 2x25uu2 hwunywopny dwinttuh wlglwgned /dwwwdslnd/onny qJ 120,000 0,680 81,600000
18 [3nuwliph Uhwguwl hwlgnyg P70 hwn 10 2,892 28,920000

Bjnwn -3 0,000000
1 :w”g&m‘m ;‘I’J‘:&Z’;ﬁmﬁz‘#ﬁiﬁnmnwwm“"” BAMESRARY, ¢ | 333 0,700 2,332890
2 |Uytinpn plwhnnhh nbuwihnfuncd Uhusl 140 il 6,332 0,600 3,799278
3 |huéh LwhiwgGnpunh wwnpwunnud h-15ud hwuwn, 5 0.5145 11,000 5,659500
4 :;ﬁ:ﬁ:éi:;ufrmh?\npbnh wwwnpwuwnnwd B15 nuuh pnnlhg, & 3,276 40,000 131,040000
5 |Uudpwl ©14A500C wndbpp wnu | 0,016912 350,000 5,919200
6 |3nupbnh gpwutyniuwgnid 2 26nwn phunwih puntyny U 5,040 0,700 3,528000
7 |Utinwnwlwl huwuniubph nbnunpnu/ ©108x3.5UU L= 7000Ul/ | hwwn 7 45,000 315,000000
8 ;‘lr:uwh':LDu.lu shnwnwlwi funnnwlhg ©®40x300 L=24 /puwnpbwly/ a 14 2 445 34,230000
9 |36GwuyniGbph L wwhnuwlUubph jnuquliGnyned 2 26pn §° 16,38 1,000 16,380000
10 |LED jnLuwwnniubph inbnwnnnud 604w hgnpniejudp huwin 7 46,000 322,000000
11 |Uinwnuwiwl dwwwydku F207 ug 0,318 0,150 0,047712
12 |Utnuwy NC 20 hwwn 14,000 0,150 2,100000
13 |A1500 dghs hwtn 4,000 5,800 23,200000
14 |Uwhuhs CS 10.3 hwwn | 4,000 2,100 8,400000




15 |Uwpuhy ES 1500E hwwn 5,000 6,100 30,500000
16 cvn- 2x16UU2 hwindwspny dwinchuh wlglwgnud /dwwwytuny/ qu 16,100 0,440 7.084000
hEUwuwU Uhgny
17 |cun- 2x25uu2 hwnywspny dwinthuh wighugned [dwwwytsund/onny |  qu 250,000 0,680 170,000000
18 |3nuwliph Uhwguwl hulignyg P70 hwtn 16 2,892 46,272000
Gjnun -4 0,000000
4-pn Ywngh plwhnnh dawynud thnunpuyutpnud Epuludunnny,
5 ,700 3,665970
1 pwpabiny w/hbpbwpwhEnh Unw v’ a3y 2 e
2 [Uytinpn puwhnnhh ntnwthnfunud uhbsl 148 il 9,950 0,600 5,970294
3 |hu6h Lwhuwztpunh wwinpuunned h-15ud hwuwn, ¢ 0,8085 11,000 8,893500
4 Phunnlb Yswnwihu hhdptiph wwwnpwuwnnud B15 nwuh pinnthg, e 5148 40,000 205,920000
htGwuyn Gbph hwdwp
5 |Uupwu ©14A500C wndtpp wnu | 0,026576 350,000 9,301600
6 |3hupbph pnwutyniuwgnid 2 26pwn phinnudh puncyny g 7,920 0.700 5,5644000
7 |Utinwnwwl hEuwyniiutph wbnwnpnul/ ®108x3.5UU L= 7000UU/ hwn 11 45,000 495,000000
8 MwhntGwl Sbnwnwlwi unqndwlhg ©40x308 L=20 /puinauwly/ " 2 2.445 53790000
11hwwn
9 |360wuniblph W wwhntuwylbph jaunwltpyned 2 26pn 2 25,74 1,000 25,740000
10 |LED nuuwwnniubnh ibnwnpnud 604w hgnpnijwdp huwwn 11 46,000 506,000000
11 |Ubinwnwywl dwwwdsl F207 ug 0,500 0,150 0.074976
12 |UbnJwy NC 20 hwuwn | 22,000 0,150 3,300000
13 |A1500 dghs huww 6,000 5,800 34,800000
14 |Ywruhs CS 10.3 hwwn 6,000 2,100 12,600000
15 |Ywhuhy ES 1500E hwn 9,000 6,100 54,900000
CMN- 2x16UU2 hwindwspny Jwinthuh wlglwgnud /dwujwytung/
16 hLwuyuil Uhgny qu 25,300 0,440 11,132000
17 |eun- 2x25uu2 hwingwspny dwinthuh wlglwgned /duywytund/onnd | qu 350,000 0,680 238,000000
18 |3nuwlph Uhwgdwl hwlgnyg P70 huwtn 24 2,892 69,408000
gjnun -5 0,000000
4-pn Ywpgh puwhnnh dzwlynwd thnunpuyubpnud Epulwdunpnd, :
1 2,381 0,7 1,666350
pLnatiny whuplwpwhEnh Unw v’ " 9
2 |Uytinpn puwhnnhh nbnwthnfuncd dhbsle 140 nu 4,523 0,600 2,713770
3 |hu6h bwhuwzbnunh wwnpwuwnnud h-15ud hwuun. §° 0,3675 11,000 4,042500
PEwnnUt Yewnwhu hpdptiph wwnpwuwnnud B15 nuuh pnnbhg, 3
4 hbGuwuynLGbph hwiwn i 2,34 40,000 93,600000
5 |Uupwu ©14A500C wndtppn wnl 0,01208 350,000 4,228000
6 |3huptiph gpwutyntuwgnud 2 26nn phundh puntyny o 3,600 0,700 2,520000




7 |UGunwnwlwl hEbuwuniuubph nbnwnpnud/ ®108x3.5Ud L= 7000UU/ hwn & 45,000 225,000000
8 Muwhnilwl dEnwnwlwa funnngwlhg ©40x368 L=21 /pwpawly/ & 10 2445 24,450000
Shwn

9 [3bGwujniGbnh W wwhnuwyusph jnunwltnunwd 2 26pn i 1.7 1,000 11,700000
10 [LED |nwuwwnntubph wbnwnpnwd 604 hqnpnugjwdp hwn 5 46,000 230,000000
11 |UGunwnwlwl dwwwybl F207 ug 0,227 0,150 0,034080
12 |Ubnuwy NC 20 hwn 10,000 0,150 1,500000
13 |A1500 dghy huwin 5,000 5,800 29,000000
14 |Ywfuhy CS 10.3 hwin 5,000 2,100 10,500000
15 [Ywfiuhy ES 1500E hwtn 3,000 6,100 18,300000
16 ﬁg&jﬂ guﬁg:erwbgnq dwinthuh wuglugnud /duwuwdsund/ U 11,500 0,440 5,060000
17 |cun- 2x25uU2 hwindwspny dwinthuh wbighwgnud /dwwwdsund/onnd|  qu 160,000 0,680 108,800000
18 |3nuwliph Uhwgdwl hwugnyg P70 hwin 12 2,892 34,704000

GjnLn -6 0,000000
1 :;Er?b%‘mqmt?ﬁghw‘gf#h"iﬁ"””“”“'u“b”mu s ¢ | 1,904 0,700 1,333080
2 [Uytinnn puwhnnhh nbnwihnfuncd Uhlsle 145 T 3618 0,600 2,171016
3 [tush Uwhwztnnh wwinpwunned h-15ud hwuw, O 0,294 11,000 3,234000
4 hﬂﬁbﬁw:::al;:hw;f:mzzﬁphnh wwwnpwunnwd B15 nwuh phninbhg, & 1872 40,000 74880000
5 |Uupwlu ®14A500C wpdbpp wnu | 0,009664 350,000 3,382400
6 [3hupbph gnwutlnLuwgnid 2 gk phiinwh puncyny iz 2,880 0,700 2,016000
7 [UGnwnuwlwb hEbwuntubbph inbnwnpnud/ ©108x3.5uUU L= 7000UU/ hwn 4 45,000 180,000000
8 ;nhu:Jhurzlﬁwu dEnwnwlw funnnywlhg ®40x300 L=26 /pwpawly ol 8 2,445 19,560000
9 [360wujnibtph W wwhnuwyutph jnuquilipynud 2 bipn g 9,36 1,000 9,360000
10 |LED jnLuwnniubnh ibnwnpnud 604wn hgnpniejwdp hwin 4 46,000 184,000000
11 |Ubunnwnwywl dwwwyltl F207 ug 0,182 0,150 0,027264
12 |UGnuwly NC 20 hwwn 8,000 0,150 1,200000
13 |A1500 aghy hwn 5,000 5,800 29,000000
14 |Ywhuhe CS 10.3 huwin 5,000 2,100 10,500000
15 |Ywhups ES 1500E hwin 2,000 6,100 12,200000
16 ﬁzﬂwiﬂ. iu;hzg:ﬁmqwbgnq dwinchuh wugywgnid /dwwjwysuny/ QU 9,200 0.440 4,048000
17 |eun- 2x25uUU2 hwwndwbpny dwinchuh wugywgnud /duwwwysund/onnd|  qu 120,000 0,680 81,600000




18 [4NUWURN URWgUWU Nwugnyg H/u nwin 1w 2,892 £8,920000
Gjnin -7 0,000000
1 4-nn Ywngh plwhnnh awlynw thnunpulutnnwd Epulwywwnnnd, F 8,094 0,700 5,665590
puwnabiny w/hupuwpwthtph Unw
2 |Uytinpn puwhnnhh nbnuthnfuncd Uhtgl 148 nu 16,378 0,600 9,226818
3 |h6h Lwhiwzbnnh wwnpuunnd h-15ud hwuwn. O 1,2495 11,000 13,744500
4 Phwnnlt Yewnwht hhiptph wwwpwunnud B15 nwuh ptnnihg, $ 7.956 40,000 318,240000
hbGwuynibph hwdwp
5 |UWUnpwu ©14A500C wpdtpn wl | 0,041072 350,000 14,375200
6 [3hupbph pnwukyniuwgnid 2 26nwn phunwdh puntyny U 12,240 0,700 8,568000
7 |Utinwnwlwl htbwyniubtph wbnwnpnul/ ®108x3.5UU L= 7000Ud/ hwn 17 45,000 765,000000
8 MwhntGwl dbnwnwlws unqnywlhg ©40x308 L=24 /punawly/ af 34 2445 83,130000
17hwwn
9 [36Gwuynilbph W wwhntuwyutph jnuqwutpynud 2 26pn o? 39,78 1,000 39,780000
10 |LED pnuwwnniubph inbnwnpnuwd 604 hgnpnupjudp hwin 17 46,000 782,000000
11 |Ubinwnuiywl dwuwjwysu F207 ug 0,772 0,150 0,115872
12 |UGnuwy NC 20 hww | 34,000 0,150 5,100000
13 |A1500 aghy hwwn | 13,000 5,800 75,400000
14 |Ywpuhy CS 10.3 hww | 13,000 2,100 27,300000
15 |Ywhuhy ES 1500E hww | 10,000 6,100 61,000000
16 cu1n- 2x16Uu2 hwindwdpny dwinthuh wughwgnud /dwwwdsuny/ qu 39,100 0,440 17.204000
htbwujwiu dheny
17 |cun- 2x25uUU2 hwinwdpny Uwinthuh wlghwgnud /dwwwysund/onny | gqu 210,000 0,680 142,800000
18 |3nuwlph Uhwgdwl hwugnyg P70 huwin 36 2,892 104,112000
GjnLn -8 0,000000
4-pn Ywpgh puwhnnh yzwynid thnunpuyupnud Epuljwidwinpnyg,
1 1,428 0,700 0,999810
puwnabiny w/huplwpwihtnh ypw v
2 |Udtnpn puwhnnhh wbnwthnfunud Jdhlsle 144 wnlu 2,714 0,600 1,628262
3 |héh Lwhuwzbnpunh wwnpwunnu h-15ud hwuwn. iR 0.2205 11,000 2,425500
Pbnnub Yewnwihu hhdpbiph wwinpwunnd B15 nuup phinnbhg, 3
4 hbGwuyynLGtph hwdwp i 1,404 40,000 56,160000
5 [Udpwl ©14A500C wndtpp wnlu | 0,007248 350,000 2,536800
6 [3hupbph gpwutiyniuwgnud 2 26nwn phunedh puntyny U2 2,160 0,700 1,512000
7 |Ubinwnwlwl htbwuniulbph wntnwnpnud/ ©108x3.50U L= 7000Ud/ hwwn 3 45,000 135,000000
TNwhnilwl ok =
8 3r:j_|;L wl denwnwlywi lunnnywyhg ©@40x300 L=24 /pwpéuwly/ ) 6 2,445 14,670000
9 |3t0wuynilbph W wwhnuwylbph jnuquilpynud 2 2bpn 2 7,02 1,000 7,020000
10 [LED inuwwnniubnh tnEnwnnnwd 604 hanpnueiwdp huwtn 3 46,000 138.000000




11 |Utiinwnwiywl dwwwltu F207 Ug 0,136 0,150 0,020448
12 |Ubnuwy NC 20 hww | 6,000 0,150 0,900000
13 |A1500 &ghy hww | 4,000 5,800 23,200000
14 [Ywfuhy CS 10.3 hwn 4,000 2,100 8,400000
15 |Ywfuhy ES 1500E hww | 1,000 6,100 6,100000
16 ;:E;uiﬂ; gug;g:ﬁm]mbpm{ dwinihuh wliglugned /duwuysundy/ al 6.900 0,440 3,036000
17 |eun- 2x25uu2 hwndwdpny Uwinuuh wughwgned /dwwwydsund/onnd | qu 110,000 0,680 74,800000
18 |3nuwlph Uhwguwl hwugnyg P70 huwtn 8 2,892 23,136000

Gjnin -9 0,000000
1 :S:aléﬁﬁq&ﬁg:lmghwﬁ:#;ﬂ l:lu-lnuﬂn|.ul4hl:r|rn.u Epuljwiwinpnd, & 4285 0.700 2,999430
2 [Uytinpn puwhnnhh nGnwihnfuncd sl 140 il 8,141 0,600 4,884786
3 |h6h Lwhuwzbpunh wwinpuuannud h-15ud hwuwn, §° 0.6615 11,000 7,276500
4 :;ﬁ:::g;l:hw;ﬁlﬁmh?\ﬁphnh wwwnpwunnid B15 nwuh phinnlhg, § 4212 40.000 168,480000
5 |Udnwl ®14A500C wndtpp nu | 0,021744 350,000 7,610400
6 [3huptph gnwutynuwgnud 2 26nwn phuncdh puncyny u? 6,480 0,700 4,536000
7 |Ubtinwnuwiwl htbwunuubnh nbnwnpnud/ ©108x3.5Ud L= 7000/ hwwn g 45,000 405,000000
8 ;]r:ﬂ_:mwu GEnwnwlwh funnnywlhg ®40x346d L=24 /pwpawly/ qd 18 2445 44,010000
9 |36Gwuyntlbph W wwhniuwyubph jnunwutnynud 2 2tipn 02 21,06 1,000 21,060000
10 |LED |nLuwwnniubph inbnwnpnud 604w hgnpnipjwdp hwin 9 46,000 414,000000
11 [Ubnwnwiwl duwwytl F207 g 0,409 0,150 0,061344
12 |Ubndwy NC 20 hwn 18,000 0,180 2,700000
13 |A1500 &ghy hwtn 6,000 5,800 34,800000
14 |Ywpuhs CS 10.3 hww | 6,000 2,100 12,600000
15 |Lwuhs ES 1500E hwwn 6,000 6,100 36,600000
16 Egﬂlﬁ'ﬂ iu:hi:t:l.lmq-.ubgnq dwinifuh wlgyuwgnud /dwuwjwdsund/ qu 20,700 0.440 9,108000
17 |cun- 2x25uUU2 hwindwopny dwintiuh wuglugnud /dwwwydsunyg/onny|  qu 270,000 0,680 183,600000
18 [3nuwlph Uhwguwl hwlgniyg P70 huwtn 20 2,892 57,840000

Gynn -10 0,000000
1 :;';':;é‘;ﬁqu'] ;'{'J‘:mghw‘fﬁg‘;‘h“ﬁhf“””“wwm”m Epukaidunniend ¢ | 7142 0,700 4,999050
2 |Uybinpn puwhnnhh nbnuwithnfuncd dhtgle 1446 il 13,569 0,600 8,141310




3 |hu6h bwhuwybpnh wwnnuwunnud h-15ud hwuwn, §° 1,1025 11,000 12,127500
PbwnUb Ybwnught hhdpbiph wwinpwunnu B15 nwuh ptnnbhg, 3
L hbGuujnLGbph huwdin i 7.02 40,000 280,800000
5 [Uupwl @14A500C wndbpp il 0,03624 350,000 12,684000
6 [3huptinh gpwubyniuwgnid 2 2t phinncdh puntyny 2 10,800 0,700 7,560000
7 [UGnwnwlwl hELwuyintuubph inknwnpnwd/ ©108x3.5UU L= 7000Ud/ hwn 15 45,000 675,000000
8 Muwhnibuwly dEnwnwlw funnnywlihg ®40x380 L=24 /punawly/ qu 30 2,445 73,350000
15hwin
9 [360wuyynilbph W wwhntuwlutph jnunwltpynid 2 26nwn 2 351 1,000 35,100000
10 [LED nuwwinniubph nbnwnnnud 604 hgnpnipjwdp hwin 15 46,000 690,000000
11 |Ubinwnuiwl dwwuwitu F207 yg 0,682 0,150 0,102240
12 |Ubnuwy NC 20 hww | 30,000 0,150 4,500000
13 |A1500 &ghy hwn 6,000 5,800 34,800000
14 [Ywfups CS 10.3 hwtn 6,000 2,100 12,600000
15 |Ywhuhs ES 1500 hwun 12,000 6,100 73,200000
16 Cu1n- 2x16Uu2 hwwnywdpny dwinihuh wligyuwgnid [GwwwidBuny/ qu 34 500 0.440 15,180000
hEUwuwu Jhgny
17 [eun- 2x25Uu2 hwindwdpny dwinchuh wliglwgnid ldwwwysuny/onny| qu 435,000 0,680 295,800000
18 [3nuwliph Uhwguwl hwlugnyg P70 hwun 32 2,892 92,544000
oynun -11 0,000000
4-pn Yungh puwhnnh dwynud thnunpuyubnnud Epuywduwinpny,
1 6,189 0,700 4,332510
puinatiny w/huplwpwihtnh ypw J
2 |Udtinpn puwhnnhh nbnwithnfuncd dhusle 1406 il 11,760 0,600 7,055802
3 |huéh Lwhuwzbpnh wwinpwunnwd h-15ud hwuwn, §? 0,9555 11,000 10,510500
4 RNl Yewnwihu hhiptph wwinpwunnid B15 nwuh phnnthg, # 6,084 40,000 243,360000
htlwuynibbph hwdwp
5 |Udpwl ©14A500C wndtpp wnu | 0,031408 350,000 10,992800
6 [3huptiph gpwutyniuwgnid 2 26pun phuiinwh puncyny U 9,360 0,700 6,552000
7 |Ubinwnwlwl hbbwuntuubph inbnwnpnud/ $108x3.50U L= 7000Ud/ | hwn 13 45,000 585,000000
8 Mwhnilwy dhnwnwlws funpndwlhg ©40x308 L=20 /pwnawly/ Q 2 2445 63,570000
13hwn
9 [REGwunibbph W wwhnuwyUbiph jnuqwbplynud 2 26pin i 3042 1,000 30,420000
10 |LED |nuwwnniubph inbnwnpnud 604 hgnpniejwdp hwwn 13 46,000 598,000000
11 |UGunwnuwl dwuwdku F207 lg 0,591 0,150 0,088608
12 |UGnuwly NC 20 hwn 26,000 0,150 3,900000
13 |A1500 aghy hwn 6,000 5,800 34,800000




14 [Ywhuhy CS 10.3 hwn 6,000 2,100 12,600000
15 |Uwfuhy ES 1500E hwtn 10,000 6,100 61,000000
C1n- 2x16UU2 hwinywdpny Uwinthuh wligywgnid Jdwwwtund/
16 hUuuwl Uheny qu 29,900 0,440 13,156000
17 [eun- 2x25Uu2 hwwndwdpny dwinthup wliglwgnud /dwwuwdsundfonny| qu 600,000 0,680 408,000000
18 [3nuwlph Uhwguwu hwlgnyg P70 hwn 38 2,892 109,896000
OynLn -12 0,000000
4-nn, wngh puwhnnh dawynud thnunpwyubpnud Epulwiduitnpny,
1 9,622 0,700 6,66540
punabiny w/hliplwpwhtinh U ¥ ;
2 (Uytinpn puwhnnhh nbnwigintund dhbsle 146 tnl 18,092 0,600 10,855080
3 |hbh bwhiwzbninh wwinpuwuinnud h-15ud hwuwn. §? 1,47 11,000 16,170000
PGnNUE Ybnwht hhipbiph wwnpwunnid B15 quiuh pbwinGhg, 3
4 hbGuumGbnh hudun ] 9,36 40,000 374,400000
5 [Udnwl ®14A500C wndbpp il 0,04832 350,000 16,912000
6 |3huptinh gpwutyniuwgnid 2 2tnwn phunncdh puntyny u? 14,400 0,700 10,080000
7 [Ukinwnwlwl hbwuntlutiph wnbnwnpnul/ ©108x3.504 L= 70000y | hwin 20 45,000 900,000000
8 Mwhnilwl sinwnwlwh funnnywlhg ©40x3018 L=26 /pwnawly i 40 2,445 97.800000
20hwwn
9 [RGGwunilbiph L wwhniuwylsph jnunwilispyncd 2 26pwn §° 46,8 1,000 46,800000
10 [LED |ntuwwnnilibph inbnwnpnud 604w hgnpnpjwdp hwtn 20 46,000 920,000000
11 |Uuinwnwlwl dwwwytu F207 Ug 0,909 0,150 0,136320
12 |UGnuwy NC 20 hwuw | 40,000 0,150 6,000000
13 |A1500 &ghy hwn 8,000 5,800 46,400000
14 |Ywtuhs CS 10.3 hwwn | 8,000 2,100 16,800000
15 |Ywhuhs ES 1500E hwin 16,000 6,100 97600000
16 CUN- 2x16Uu2 hwinduwspny dwintuh wlghugnud /dwwwytuny/ QU 46,0 0,440 20240000
hEbwujwl dhgny
17 {eun- 2x25Uu2 hwndwspny dwinthuh wliglwgned ldwwwdbunyg/onny | qu 600,0 0,680 408,000000
18 |3nuwlph dhwguwl hwlgniyg P70 hwn 42 2,892 121,464000
CunwuJtlp 18874,96080
Cwhnyp 11% 2076,24569
Cunwutlup 20951,20649
uu3 20% 4190,24130
Cunwdtup
MuUSYbrusSni
Uhuhwith hunfwjhip <<Uybkwnhujui Thu Un
p. Uhuhwi, Uhuwlwh 32 £. Gpluty, Nyl
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Swflpus phy 1
« 25 » ognuwnnu 2020. hbpl{wb

UUUL-CRUUEAR-20/2 dwdljwgpny wuwydwlwgph

Uymiuhph dwngh Uhuhwb pwnwph Lwp %y, 9. Ldnkh uppuigp, <. Ugnjwu, Thpywuqunt thnnngubiph thanwguwiht \nyubiph

p. Uhuhwl, Uhuwljut 32
22 Dhliiwfu. gnpsd. Jups.
2/2,900292101145
292209215979

nbnuluwnid
Owywjwihtipp
Cwquip npwd
N Uz]ummr?:ﬁtl‘rul;llntﬁ;ml]bhp]} AU Luburly [21;1:1;1 Qnuduipp
1 3 4 5 6 7
Upunwphl pniuujnpnipnnh gubg
Upuuphlt jntuwnpmpyub hnwuyntt wynnuyu nj )
! (Dil{JfoL?Lf. ]I..=7,01fl,l llllli];up.:mu] pwn&lill]: ;4481;?1IL[‘T1LE=1;1.181?[ -~ b % i o
2  [Uwynijubikph dhwgdwh ubindwly hwwn 76 1,77 134,5200
3 |Uuynijutikph wipugiwh wndpuy hun 76 0,88 66,8800
T4 Luybiwl wlnibughts gguwdnnlipny 50x50x5ud, L=0,6u hwiwn 38 2,74 104,1200
5 |Uklyniupy hun 38 2,78 105,6400
6 |Znquiiguwi hunfwp bwjruntingud dbnwquub jup 1000 qdu 46,0 1,30 59,8000
7 |ZEnnuy, whnonquily M16 hun 38 1,52 57,7600
8 |Mnnuuwn wblmbughlt 50x50x5uU,1=0,8u huin 6 2,68 16,0800
- g;:gx}u wynuhtk ghntipny Vkyniuwgdui huwnudpp 2x16u o 1520,0 ans SHGam00
)
10 ;T;u};_glh.l wynhtt ghntipny dkniumgdut hunngwspp 3x2,50U il 75.0 0,68 51,0000
11 |Owjpwynp Uklniuhy junnnjduly @200 qdud 75,0 0,52 38,6250
12 Bé‘[‘)“l“:ib;‘;;‘:ﬁ:fﬁ;‘s“’h i s e b oo o B (I 38 47,60 1808,8000
13 Znnuyhtt wplnunwibiplip Epuljun]unnpny 11 jupgh i 855 0,49 41553
gpoituntibipnud, Ynquhgpny hbbwujwb hpupkph hudwp
14 [Mpuinmm Enihgp Ynquihgph dpwlywd qpattintibphg, e - - 2.6584
nnthwbnudng]
15 |®nunpulh phnntingnud B7,5 quuh phwunnting Iy 8,55 31,18 266,5890
16 |Uqwgh bwpwyunpuunulub skpuinh hpulwiugnud h=10ud U’ 0,95 4,57 4,3415
17 |Udpuy 2hwwn kY hbbwuwb hwdwp wdpub A 1T quuh 4q 4,689 0,41 1,9038
18 |2kbwuyul kplokpun tkphnud o’ 117.8 1,13 133,1140
Cunudklip 5724,582
Cwhnyp - 11% 629,704
LChyudbhp 6354,286
uuz - 20% 1270,857
Lhyundklp 7625,143
nuSdhrusnh LunuLumr 4’5%‘;-; 3
Uhuhwith hurduylip <<Uykinhujmb Shit Uniys *&e!;: %
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Cunfeyyud phy 1

« 25 » ognuinnu 2020. Yupyws
UUUL-CRUUGAR-20/2 swalwgpny wwjdwlwgph

Upnishph dwngh Uhubw punuiph U Snaphlh, Upgufuh, Lujwjwt, Pu$h thnn. Upndut, Uuwbnwppw bpp, U

Lnnunbl rwnwdwubnh thnnwawiht inuubnh nbnwbwinud

Owywuthbpp
Cwqup npud
Uzhuwnulipibiph nbuwlkpp Uhuny.
N
& bty /T Lwbiuly ablin Snulwpp
1 3 + ) 6 73
Upunwphl jniwannpmipyul guibg
Upunupht intuwynpmppub hnbwuynih ynguunk
uily.
1 |hunnniwlhg @102x4u, L=7,0d, ikpunjuy puipdwlp il 49 60,330 2956,1700
D48x3nl, L=1,8U
2 [Uwympubph vhwgdwh ubndwy hwin 98 1,770 173,4600
3  [Uwnijutibph wipugiwh wdpuy hunn 98 0,880 86,2400
4 |Luybwl whimbught gguwdnnpny 50x50x5u, L=0,60 hun 49 2,740 134,2600
5 |Uklniuhy hwn 49 2,780 136,2200
6 |Znquiiguwh hwdwp twhunbnws dhnwquiwt qwp 1008 gdd 60,0 1,300 78,0000
7 |ZEmgnuu, whnonquly M16 huwwn 49 1,520 74,4800
8 |Mnnuuwn mblnibughlt 50x50x5uU,L=0,8u hun 49 2,680 131,3200
U L Uk Uwl h &
g JTVORS IREPR IR R sE R hauip gl 1960,0 0,379 742,8400
2x16ud” CIP2A
U uk L Uk Uwb h s}
g0 || e i ghaum vhipnangiub kumiulyn g 100,0 0,680 68,0000
3x2,50u” ABBG
11 |Ow)pwinp dklniuhy junnnywl ©20u0d qdud 100,0 0,515 51,5000
12 Upwnupht jnwuwynpmppub jniuuant, wwownwuiblihy - 49 47,600 2332.4000
wwwljhny LED juduyny, 609w, IP65
13 Znnuyht wphnwiipibp bpuljuijuinpny I Yupgh £ 11.08 0,486 5.3582
gpoiinbiipnud, Yngwyhgpny htibiwupwb hhupkph hunfwp
14 [Vpunininm tnihgp Yanuihgph tpulywd gpminntikphg, £ 11,03 0.308 3,3957
wnnthwbnuing
15 [®nunpulh pinntingnud B7,5 nuup plnnting e 11,03 31,180 343,7595
16 Ujugh twjuuwyunpuunuljub okpnh hpulwitugnud £ 1.23 4570 55983
h=10ud
17 JUdpwy 2hunn Uk hkwuywb hwdwp undput A 11 quuh lig 6,047 0,406 2,4549
18 [ZEtwupwb Epljpkpn Gkpynud u? 151,9 1,130 171,6470
Clpwdbip 7497,104
Cuwhnyp - 11% 824,681
Llyundklp 8321,785
uuz - 20% 1664,357
Lhpundkhp 9986,142
nus4hrusnir LunULUNNk
Uhuhwih hundwyip <<Udbtwnpujmt Tht Unnwmds>> UNC
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Sunus ph 1

« 25 » ognuunu 2020. l{bgt{wb
UUUL-CRUUTAR-20/2 dwdlwapny wwjdwbiwgnh

Uyniuhph dwpgh Upuhwt pwnuph Unntig 1-ht, 2-pg upp b 1-pu thwlninnt hnquguyht

(nyubiph nbnwlwynud

Owyw|wihbppe
Lwqup npwd
UWluwwnwtipubph nbuwlubpp Uhuwy.
N
o sitiduitina /U | Pwlwl il Snudwpp
1 3 El 5 6 7
Upypwphts muwdnpnipyuwt guiig
Upwnwpht inwuwynpnigjwt hnbwujniu
1 Jynnuwunt funnndwlhg ®102x4dd, L=7,04, ey, 33 60,33 1990,8900
ubpuwnw) pupdwlp $48x34d, L=1,84 “r
hwun
2 |Uwinifuutbph dhwgdwl ubinduwly 70 1,77 123,9000
wT
hwn
3 |Uwnijuubiph wdpwgdw wdpuwy N 70 0,88 61,6000
1]
4 Lwjtwl wulniuwiht ggwénntipny 50x50x504, hww - S i
L=0,64 T
5 |Utlynwhg s 33 2,78 91,7400
W
Annuugdwt hwdwp U &
3 i b e L;:luwmhqu qod 1320,0 1,30 1716,0000
! dbnwnwywu jwp 1044 nm
7 |<bnynw, wunonwy M16 h:]:n 33 1,52 50,1600
hwwn
8 |Mnnuwuwn wulyniiwhu  50x50x5u4,L=0,84 o 33 2,68 88,4400
9 Uwntfu wynuihub ghr[bnnd_ daynwwgdwu qou — i -
hwuindwdpp 2x16dd” CIP2A nm
U dhut ohntipny U d
10 wintfu wynwh Q,;r]_ pny dEynwwgdwl qou i i -
hwwnywdpp 3x2,50d° ABBG nm
11 |[owpwynp dbynwuhs funnnduwly $200 ‘:ﬁf 66,0 052 33,9900
Upuwpht jntuwynpnigjut (nuwinnt, i
12 [ywounwwuhs wwwyhny LED jwdwny, 604w, N 39 47,60 1856,4000
IP65 !
Cnnuijht wpfuwwnwupubp Epulwywnpny 1l 5
13 |Ywpgh gpniunubipnd, Ynnwihgpny 3 7,43 0,49 3,6086
htwuwl hhipinh hwdwn i




p. Uhuhwt, Uhuwmljwh 32
22 Dhiouu. gnpd. Jupy.
2/2,900292101145
29 2 09215979
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£, Gplul, Myhkgn 31
<< U.l.[hphlupulhll >> ORC

hu 3
14 pwdninnt Bnthgp Ynnwihgph dowlyuwd J 4. " -
gpniuntibiphg, winthwunwing M
LTB
15 |@nunpwyh plitinungnud B7,5 nwuh ptitnnuny 2 743 31,18 231,5115
3
6 Udwagh bwhiwwwwnpwunwlwt obpnh ) i o s
hpwlwuwgnid h=10ud M
17 Udpwy 2hwwn d&Y hbuwujwy hwdwp wdpwt | Yg AR 1 16533
A Il nwuh Kr
2
18 | <blwuywt tiplgkipn ubpynud :2 102,3 1,13 115,5990
Cludkp 7029,870
Cuthnyp - 11% 773,286
Clupundtlip 7803,155
uuz - 20% 1560,631
L |ctputsp 9363,786
MUSYbrusnh LunuLuwnnk
Uhuhwith hwduytip <<Uydbtwnpujub Thu Untwnwd>> UNC




Swybiws phy 1
« 25 » ognuwinnu 2020, Yupywd
UUUL-<PUUTAR-20/2 dwdlwgnpny wwjdwuwgnh

Ujniuhph dwpgh Uhuhwt pwnuph Ujniuhph 2-pg b M. Ubwlyh uppwgpubiph
thnnuguwjht nyubph nbnuljuwynud

Owywjwihbpp
Cwqup ppud
Wuwwnwtpubph wmbuwlubpp Uhwy.
N 7 q
& stuloiasdo U | Lwliwl dibe nudwpp
1 3 4 < 6 7
Upyppwphli imuuwynpnipjul guiig
Upwnwpht intuwynpniejw hnuwuntu o
1 [ynnwuwuwnb funnnwlhg $102x44d, L=7,04, U"K Tu' 18 60,33 1085,9400
ubipwnjw| pwpdwyp P48x3ud, L=1,8d
hwuwn
2 |Uwniutbph dhwgdwt ubndwly - 36 1.77 63,7200
hwuwn
3 |Uwnijuubph wdpwgdwt wdpwy o 36 0,88 31,6800
4 Lwjuwly wulyniuw)hu ggwéanntipny 50x50x54d, hwun P 274 49,3200
L=0,64 wT
5 |UkYyntuhg o 18 2,78 50,0400
wr
< hwdwp u
6 nnwugdwt hwdwp u;tuwmqu_wb qdd B 355 266600
dEinwnwlwu jwp 1044 nm
7 |<bnyntu, wunonwy M16 h;:n 18 1,52 27,3600
hwwn
8 |Mnnuuwwn wulniuwihtt  50x50x5dd,L=0,84 - 18 2,68 48,2400
dhu
o Uwintfu wynuwihub %hqhnm{ dEynwwgdwu qéu 7200 a8 272.8800
hwunywdpp 2x164d” CIP2A nm
10 Uwniju wynuihub Ql;qbnnq dEynwwgdwl qdd i - 73600
hwwnjwdpp 3x2,5dU° ABBG nm
5
11 [owpwynp dbntuhs funnnywl $20u4 ‘:;hf 400 | o052 20,6000
Upwnwpht (niuwynpnipjwt (nwuwwnnt, e~
12 {wwounwwuhs wwwlhny LED jwdwny, 604w, 18 47,60 856,8000
IP65 v
<nnwjhtu wotuwwnwupubp Epujwywunpny i &
13 |ywpgh gpniuinubipnud, Ynnwihgpny § 4,05 0,49 1,9683
htiiwujwt hhdptiph _hwdwp %




3
14 Fupwdninnt tiwnhgp Ynnwihgph dowlyywsd d 405 - 12474
gpniunutiphg, wnnihutinwing M
3
15 |®Pnunpwyh ptivinuingnud B7,5 nwuh ptivinuny ds 4,05 31,18 126,2790
M
u 3
16 Jwagh twuwwwwnpwunwlwu okpnh d 0.45 - 20565
hpwlywuwgnul h=10ud M
17 Udpwy 2hwwn dbYy hbbwujwt hwdwp wdpwu | Yg 2201 aih 0.9018
A lll nwuh Kr
d2
18 |<bUuwujwt bpYyotipn ubipynud ’ 55,8 1,13 63,0540
Cinudkup 2757,8870
Cwhnyp - 11% 303,3676
ChpurdGop 3061,2546
Uuz - 20% 612,2509
LChpunlkip 3673,5055
muSdYhrusnh LunuLunnh
Uhuhwith hunluytip <<Udbwnpujub Thi Untwnnwud>> UNC

p. Uhuhwh, Uhuwlwh 32
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2/2,1570065096060100




Lwnftyuié phy 1
« 25 » ognuuinu 2020. Yupdwd
UUUL<KPUUTCAR-20/2 dwdlwagpny wwjdwlwgph

Uyniushph dwpgh Uhuhwt pwnuph Gtntgnt punwdwuh thnquguwjht inyubiph wbnulwynd

Owywjwthbppe
Cwqup npud
Ujuwwnwupubph mbuwlubpp Uhuwy.
q
N & acbeibinui /U | Pwtwl o nwdwpp
1 3 B -] 6 7
Upypwpht jntuwdnpnipyul gug
Upwnwpht jniuwydnpnipjw hnuwuntu il
1 |wynnuuwuwb fjunnnwyhg ®102x4dd, L=7,04d, UTK : ' 22 60,33 1327,2600
ubpwnyw| pwpdwyp P48x3dd, L=1,84
hwun
2 |Uwniuubiph dhwgdwt ubindwly . 46 1,77 81,4200
hwwn
3 (Uwintuubiph wdpwgdwt wdpwy - 46 0,88 40,4800
4 twéhéxjjlq wulntiwyht ggwdanntinny 50x50x5dd, hwun 2 - PR
=0, wT
5 |Utiyniuhs hu“jf 22 278 61,1600
6 Lnnuiugdwu hwdwp UL;JrouLnbm{Lub qdu 27.0 o stk
dEnwnwywl jwp 10dd nm
7 |<tnynw, wunonwy M16 hii“ 22 152 33,4400
hwun
8 |Mnnuwuwn wuyniuwhu  50x50x5ud,L=0,8d e 22 2,68 58,9600
9 Uwnitbu wynwihub ghqbnnq dynwwgdwu qdu 920 0 - stk
hwwnywdépp 2x164Ud” CIP2A M
10 Uwintfu wynudhub ggqbnnq dEynwwgdwl qoéu 450 i e
hwunywdpp 3x2,5dd” ABBG nm
od
11 |Swpwynp dbynwhs fjunnnywly $20dd C:IM 45,0 0,52 23,1750
Upwnwpht (niuwynpnigjwl (ntuwwnnt, B
12 |ywounwwuhs wwywyhny LED jwdwny, 604, i 22 47,60 1047,2000
IP65
<nnwjhtu wotuwwnwupubin Epuljwywunpny [ &
13 [Ywpgh gpniunubipnid, Ynnwihgpny 3 4,95 0,49 2,4057
hbuwuywy hhdpkph _hwdwp -
3
1 fupwdninnt Ginhgp Ynnwihgph dowlywsd L53 4.95 e il
gpniuwnubiphg, wnthwunwing M




P
15 |@nunpwlh ptitintingnud B7,5 nwuh ptivnuny 3 4,95 31,18 154,3410
3
16 Udwgh bwhiwwwwnpwunwywl gtpunh d 0.55 s o=
hpwywuwgnw h=10ud M
17 Udpwl 2hwwn dbYy hbbwuywl hwdwp wdpwt | Yg 2715 il i
A lll nwuh Kr
7
18 |<buwujwu bpygbpunn ubpynd 2 68,2 1,13 77,0660
Clgudip 3386,708
Cwhnue - 11% 372,538
LhpurdElp 3759,246
uuz - 20% 751,849
Chpunlblip 4511,095
nusS4hrusnr LunuLunnk
Uhuhwih hwdwjip <<Uytwnhujut Thit Unluawd>> UNC

p. Uhuhwl, Uhuwljuii 32
22 Dhtibwfu. gnpd. Jupy.
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Swiltyyws phy 1
« 25 » ognuwnnu  2020. Yupywd
UUUL-CRUUTAR-20/2 dwdlwagpny wwdwlwgph

Ujniuhph dunqh Upuhwl pwnwph Undhunwu, Wnwdjul, Uunnl bojuwt quypp, 2. Uunpwhly, Swhnujwl, Oppkih
thnnngubiph b Uywnwpjwt 1-ht Uhpwigph thnnwgwht nyubph nbnuljuynud

Owywjwihbipp
Cwqup npud
Uzluwwnwipubiph wkuwlubpp Uhuwd.
N 2/ Lul G
b widwbnwip v il ghtip ..
1 3 4 5 6 7
Upipwphts intuunfnpnipyuts gwtig
UNTWpAT (AW nnie]udy MU WRAWuaG
1 |runnnyulhg ©102x4dd, L=7,00, bnwnyw| pwnéuwlp inul. 53 60,33 3197,4900
DARVULE | -1 Al 520
hwun
2 (Uwnifutbph dhwgdwl ubndwly e 110 1,77 194,7000
hwn
3 [Uwjnifuubph wdpwgdwl wdpwy = 110 0,88 96,8000
4 |Lwjuwy wulynibwhl ggwannbpny 50x50x54d, L=0,64 h:J"T‘” 53 2,74 145,2200
h
5 |Ubynwhs L"l‘J‘TL" 53 2,78 147,3400
,| qdd
6 |<nnuugdwt hwdwp bwhwnbngws dEnwnwlwt wp 1044 o 1590,0 1,30 2067,0000
7 |<trynu, wunonwl M16 h“‘T‘” 53 1,52 80,5600
L
hwwn
8 | Mnnuwun wuyniiwihu  50x50x5ud,L.=0,84 e 53 2,68 142,0400
U dhub b b dwt h &
9 l“l“lh; wynwihub ghnbipny dblnwwgdwl hwndwsdpp gau 2120.0 0.38 803,4800
2x160d” CIP2A nm
Uwinifu wynwihub ghnbipnyd deyniuwgiwl hwndwdpp qéd
10 106,0 0,68 72,0800
3x2,500° ABBG M
&
11 |owppwynp dblynuhs funnnduwl $20d4 C:.M 106,0 052 54,5900
Upunuwpht nwwynpnigjul (nwwinnt, wwunwwhs hwn
53 47,26 2504,8827
" wwwlhny LED jwdwny, 604, IP65 wT
¢ 3
13 nnuwiht wluwnwptbp tpulwdwnpny Il Yupgh d 11.93 0.49 5.7956
gpniinubipnud, Ynnwihgpny hbuwuywu hhdptiph hwdwp M
3
1 fupwdninni tiinihgp Ynnwihgph dawlywsd gpniuntibiphg, d 11.93 031 3.6729
nnthwunwing v
e
15 [Pnunpwlh pitinungnud B7,5 nuuh plinnuny 3 11,93 31,18 371,8215
u ok L
16 Udwagh bwhiwywnpwunwlwl sipnh hpwlwiwgnu da 133 457 6.0553
h=10ud M
17 {Wdpwy 2hwn dbl hbbwuwt hwdwp wdpwt A 1 gwuh l:_} 6,540 0,41 2,6553
I.‘IQ
18 |<buwujwb bplobpwn ubipynud o2 164,3 1.13 185,6590
Chnudklp 10081,8422
Cwhnyye - 11% 1109,0026




Chpunltip 11190,8448

uuz - 20% 2238,1690
Clgunlbtp 13429,0138
musSdhrusnh uunuLunnk
Uhuhwbth hwduyip <<Uykwhujul Thit Untwnwud>> UL
p- Uhuhwl, Upuwlwh 32 £, Gplub, Nyukgn 31
22 Dhbitiwuu. gnpd. Jups. << Udkphwpwmbly >> ®LC

2/2.900292101145 2/2 1570065096060100
2492209215979 !




